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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, MAY 2022. 

First Semester 

PRINCIPLES OF MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define decision – making. 

 wº©õÚ® ö\´uÀ & C»UPn® u¸P. 

2. What are the types of organization? 

 {ºÁõP Aø©¨¤ß ÁøPPÒ ¯õøÁ? 

3. What are the levels of management? 

 ÷©»õsø©°ß £i{ø» Aø©¨¦PÒ ¯õøÁ? 

4. Define span of control. 

 Pmk¨£õmk AÍÄ & Áøμ¯Ö. 

5. What do you mean by budgetary control? 

 vmh AÔUøP Pmk¨£õk Gß£x £ØÔ }Âº AÔÁx ¯õx? 

6. What is functional organization? 

 £o\õº Aø©¨¦ GßÓõÀ GßÚ? 
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7. What is management by objectives? 

 ÷|õUP ÷©»õsø© GßÓõÀ GßÚ? 

8. Define perception. 

 P¸zøu Áøμ¯ÖUPÄ®. 

9. What are the fundaments of culture? 

 P»õa\õμzvß Ai¨£øhUPÒ GßÚ? 

10. What are the concepts of group? 

 SÊÂß P¸zxUPÒ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the prerequisites of control? 

  Pmk¨£õmiß •ß {£¢uøÚPÒ ¯õøÁ?  

Or 

 (b) Describe the nature of direction. 

  C¯USu¼ß ußø©PÒ £ØÔ ÂÁ›. 

12. (a) Explain the limitations of planning. 

  vmhªku¼ß Áøμ¯øÓPøÍ ÂÍUSP.  

Or 

 (b) Explain the significance of scientific management. 

  AÔÂ¯À ÷©»õsø©°ß •UQ¯zxÁzøu¨ £ØÔ 

ÂÍUSP. 
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13. (a) Discuss the various steps in planning. 

  vmhªku¼ß £À÷ÁÖ £iPøÍ ÂÁõvUP.  

Or 

 (b) What are the principles of organization? 

  öuõÈÀ Aø©¨¤ß ÷Põm£õkPÒ ¯õøÁ? 

14. (a) What are the difference between administration and 
management? 

  {ºÁõPzvØS® ÷©»õsø©US® Cøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ?  

Or 

 (b) Explain the role of leadership. 

  uø»ø©°ß £[øP ÂÍUSP. 

15. (a) Explain the salient features of management in 
modern period. 

  |ÃÚ Põ» ÷©»õnø©°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP.  

Or 

 (b) Discuss the difficulties of co-ordination. 

  J¸[Qøn¨¤ß ]μ©[PøÍ ÂÁõvUP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the techniques required for effective  
co-ordination?  

 BØÓÀªUP J¸[Qøn¨¤ØSz ÷uøÁ¯õÚ ~m£[PÒ 

¯õøÁ? 

17. Explain the different types of decisions. 

 wº©õÚ® Gkzu¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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18. What is organization? Explain its importance what are 
the principles of good organization? 

 Aø©¨¦ GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu ÂÍUSP. 

|À» Aø©¨¤ØPõÚ uzxÁ[PÒ ¯õøÁ? 

19. Explain the various stages involved in the process of 
decision – making. 

 •iöÁkzu¼ß |øh•øÓ°À Ah[Q²ÒÍ £À÷ÁÖ 

£iÄPøÍ ÂÁ›. 

20. What are the key issues of team building? 

 Ao°ß •UQ¯ ¤μa]øÚPÒ ¯õøÁ? 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2022. 

First Semester 

BUSINESS COMMUNICATION  

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are the layout of business letter? 

 ÁoP Piuzvß uÍÁø©¨¦ GßÓõÀ GßÚ? 

2. Define memo. 

 ö©÷©õøÁ Áøμ¯Ö. 

3. What do you mean by external communication? 

 öÁÎ¨¦Ó uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

4. List out the content of order letter. 

 Bºhº Piuzvß EÒÍhUPzøu £mi¯¼kP.  

5. What are the various sources of information for 
appointment? 

 {¯©Ú® ö£ÖÁuØPõÚ £À÷ÁÖ uPÁÀPÒ ¯õøÁ? 
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6. State the meeting of the shareholders. 

 £[SuõμºPÎß Tmhzøu öu›ÂUPÄ®.  

7. Define Notices. 

 AÔÂ¨¦PøÍ Áøμ¯Ö. 

8. What do you understand by communication process?  

 uPÁÀ öuõhº¦ ö\¯À•øÓ GßÓõÀ GßÚ? 

9. Write a note on complaint letter. 

 ¦Põº Piu® £ØÔ SÔ¨¦ GÊxP.  

10. What is meant by Government letter? 

 Aμ\õ[P Piuzvß ö£õ¸Ò GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the basic elements of Communication. 

  uPÁÀ öuõhº¦UPõÚ Ai¨£øh TÖPøÍ ÂÍUSP.  

Or 

 (b) Draft an agenda of the Annual General Meeting. 

  Bsk ö£õxU Tmhzvß {PÌa] {μø» E¸ÁõUSP. 

12. (a) Discuss the importance of Business Communication. 

  ÁoP öuõhº¦PÎß •UQ¯zxÁzøu¨ £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b) Write a complaint letter to a supplier for the wrong 
delivery of goods. 

   ö£õ¸mPøÍ uÁÓõP ÁÇ[SÁuØPõP J¸ 

\¨øÍ¯¸US ¦Põº Piu® GÊxP.  
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13. (a) What are the devices of Internal Communication? 

   EÒ öuõhº¦PÎß \õuÚ[PÒ ¯õøÁ? 

Or 

 (b) State the steps to be followed in speech drafting. 

  ÷£a_ ÁøμÂÀ ¤ß£ØÓ ÷Ási¯ |hÁiUøPPøÍ 

SÔ¨¤kP.  

14. (a) Explain the devices used for Internal 
communication in an organization. 

  J¸ {ÖÁÚzvÀ EÒ uPÁÀ öuõhº¦US 

£¯ß£kzu¨£k® \õuÚ[PøÍ ÂÍUSP. 

Or 

 (b)  What are the essentials of a good report? 

  |À» AÔUøP°ß Azv¯õÁ]¯[PÒ ¯õøÁ? 

15. (a) Draft an application letter for the post of lecturer in 
self-financing college. 

  _¯ {vU PÀ¿›°À Â›Äøμ¯õÍº £uÂUS 

Âsn¨£U Piuzøu ÁøμÄ ö\´P.  

Or 

 (b) What are the various components of a speech? 

  Eøμ°ß £À÷ÁÖ TÖPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various steps in the process of 
communication.  

 uPÁÀ öuõhº¦ ö\¯À£õmiß £À÷ÁÖ £iPøÍ ÂÍUSP. 
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17. Draft a minutes of annual general meeting. 

 Á¸hõ¢vμ ö£õxU Tmhzvß J¸ {ªhzøu E¸ÁõUSP.  

18. Briefly explain the various communication devices.  

 £À÷ÁÖ öuõhº¦ \õuÚ[PøÍ _¸UP©õP ÂÍUSP. 

19. Explain the barriers of effective communication. 

 £¯ÝÒÍ  uPÁÀ öuõhº¦UPõÚ uøhPøÍ ÂÍUSP. 

20. What are the types of Business reports? 

 ÁoP AÔUøPPÎß ÁøPPÒ ¯õøÁ? 

———————— 



  

D–5265     

DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, MAY 2022. 

First Semester 

BUSINESS ENVIRONMENT 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is ecology? 

 _Ç¼¯À GßÓõÀ GßÚ? 

2. State the meaning of technological environment. 

 öuõÈÀ~m£ `Ç¼ß ö£õ¸øÍU TÖP 

3. What is industries licensing? 

 öuõÈÀPÒ E›©® GßÓõÀ GßÚ? 

4. What is mixed economy? 

 P»¨¦ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

5. What is GNP? 

 GNP GßÓõÀ GßÚ? 

6. Define Industrialisation. 

 öuõÈÀ©¯©õUPø» Áøμ¯Ö. 
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7. What is Fiscal policy? 

 {vUöPõÒøP GßÓõÀ GßÚ? 

8. What is FDI? 

 AßÛ¯ ÷|μi •u½k GßÓõÀ GßÚ? 

9. What is legal environment? 

 \mh `ÇÀ GßÓõÀ GßÚ? 

10. What is Privatisation? 

 uÛ¯õº©¯©õUPÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the impact of legal environment on 
business. 

  ÁoPa `Ç¼À \mha `Ç¼ß uõUPzøu ÂÍUSP.  

Or 

 (b) Explain the impact of economic policies on modern 
business. 

  |ÃÚ ÁoPzvÀ ö£õ¸ÍõuõμU öPõÒøPPÎß 

uõUPzøu ÂÍUSP.  

12. (a) Explain the relationship between business and 
society. 

  ÁoPzvØS® \‰PzvØS® Cøh°»õÚ EÓøÁ 

ÂÍUSP.  

Or 

 (b) Explain the characteristics of Mixed economy. 

  P»¨¦ ö£õ¸Íõuõμzvß £s¦PøÍ ÂÍUSP.  
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13. (a) Explain about financial system of India. 

  C¢v¯õÂß {v Aø©¨¦ £ØÔ ÂÍUSP.  

Or 

 (b) State the role of FDI in India. 

  C¢v¯õÂÀ AßÛ¯ ÷|μi •u½miß £[øPU TÖP. 

14. (a) Explain about intellectual property rights. 

  AÔÄ\õº ö\õzx›ø© £ØÔ ÂÍUSP.  

Or 

 (b) What is LPG and explain briefly. 

  LPG GßÓõÀ GßÚ? _¸UP©õP ÂÍUSP.  

15. (a) State the features of globalisation. 

  E»P©¯©õUP¼ß A®\[PøÍU TÖP. 

Or 

 (b) What is the impact of population growth on 
business? 

  ÁoPzvÀ ©UPÒ öuõøP ÁÍºa]°ß uõUP® GßÚ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the role of financial institution on business. 

 ÁoPzvÀ {v {ÖÁÚzvß £[øP ÂÍUSP.  

17. Explain the impact of India’s industrial policy on 
economic reforms. 

 ö£õ¸Íõuõμ ^ºv¸zu[PÎÀ C¢v¯õÂß öuõÈÀxøÓ 

öPõÒøP°ß uõUPzøu ÂÍUSP.  
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18. Critically evaluate India’s economic growth rate through 
various five-year plans. 

 C¢v¯õÂß ö£õ¸Íõuõμ ÁÍºa] ÂQuzøu £À÷ÁÖ 

I¢uõsk vmh[PøÍ Â©º\Ú Ÿv¯õP ©v¨¥k ö\´P. 

19. India is Mixed economy- explain. 

 C¢v¯õ P»¨¦ ö£õ¸Íõuõμ® & ÂÍUSP.  

20. Explain the social responsibilities of business towards 
different groups. 

 öÁÆ÷ÁÖ SÊUPÐUS ÁoPzvß  \‰P¨ ö£õÖ¨¦PøÍ 

ÂÍUSP.  

————— 



  

D–5266     

DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, MAY 2022. 

First Semester 

FINANCIAL ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Accounting. 

 PnUQ¯À Áøμ¯Ö. 

2. List out various uses of Accounting Information. 

 PnUQ¯À uPÁÀPøÍ E£÷¯õP¨£kzx® £À÷ÁÖ |£ºPøÍ 

£mi¯¼kP. 

3. What do you mean by Accounting Standards? 

 PnUQ¯À uμ[PøÍ¨ £ØÔ }Âº AÔÁöußÚ? 

4. Define Double Entry System. 

 Cμmøh¨ £vÄ •øÓ – Áøμ¯Ö. 

5. What is Trial Balance? 

 C¸¨¦ ÷\õuøÚ £mi¯À GßÓõÀ GßÚ? 

Sub. Code 
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6. Specify the purpose of preparing Bank Reconciliation 
Statement.  

 Á[Q \›UPmk® £mi¯À u¯õ›¨£uß ÷|õUP® ¯õx? 

7. What is Partnership Deed? 

 Tmk ÁoP J¨£¢u¨ £zvμ® GßÓõÀ GßÚ? 

8. Define – Goodwill. 

 |Øö£¯º – Áøμ¯Ö. 

9. What is Rights Issue? 

 E›ø©¨ £[S öÁÎ±k GßÓõÀ GßÚ? 

10. What is Debentures? 

 PhÜmk¨ £zvμ[PÒ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) Briefly explain the various types of Accounting 
conventions.  

   £À÷ÁÖ ÁøP¯õÚ PnUQ¯À ©μö£õÊ[PøÍ 

_¸UP©õP ÂÍUSP. 

Or 

 (b) Journalise the following transactions: 
2020  

March 1 Raman started his business with cash – Rs.10,000

March 3 Bought goods for cash – Rs.1,500 

March 5 Sold goods to Krishna – Rs.800 

March 7 Purchased goods from Govind – Rs. 2,000 

March 8 Received from Krishna – Rs.500 

March 10 Paid Govind – Rs.700 
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   ¤ßÁ¸® |hÁiUøPPÐUPõÚ SÔ¨÷£mk¨ 

£vÄPøÍz u¸P. 

2020  
©õºa 1 ¹. 10,000 •uÀ ÷£õmk Cμõ©ß öuõÈø» öuõh[QÚõº 

©õºa 3 ¹. 1,500 ©v¨¦ÒÍ ö£õ¸mPøÍ öμõUPzvØS Áõ[QÚõº. 

©õºa 5 ¹. 800 US ö£õ¸mPøÍ Q¸ènõÂØS ÂØ£øÚ ö\´uõº. 

©õºa 7 ¹. 2,000 ©v¨¦ÒÍ ö£õ¸mPøÍ ÷PõÂ¢vhª¸¢x öPõÒ•uÀ 

ö\´uõº. 

©õºa 8 ¹. 500 &I Q¸ènõÂhª¸¢x ö£ØÓõº. 

©õºa 10 ¹. 700 &I ÷PõÂ¢vh® ö\¾zvÚõº. 

12.  (a) State any five important adjustments made in final 
accounts. 

   CÖvU PnUSPÒ u¯õ›US®÷£õx EÒÍ HuõÁx I¢x 

•UQ¯©õÚ \›UPmhÀPøÍ TÖP. 

Or 

 (b) How will you prepare Bank Reconciliation 
statement? 

   Á[Q \›Pmk® £mi¯À u¯õ›US® •øÓø¯ TÖP. 

13.  (a) In a business there was a machine for Rs.45,000 on 
1st Jan 2019. On 30.06.2019 another machinery was 
purchased for Rs.5,000. On 31.12.2019 part of the 
machine was sold for Rs.1,650, which had a cost 
price of Rs.2,000 on 01.01.2019. Prepare machine 
account after providing depreciation at 10% p.a on 
Fixed installment basis.  

   J¸ Â¯õ£õμzvÀ 01.01.2019 AßÖ ¹.45,000 

©v¨¦ÒÍ J¸ C¯¢vμ® C¸¢ux. 30.06.2019 AßÖ 

÷©¾® J¸ C¯¢vμ® ¹.5,000&US Áõ[P¨£mhx. 

01.01.2019 AßÖ ¹. 2,000 AhUP•ÒÍ C¯¢vμzvß 

J¸ £Sv ¹. 1,650US 31.12.2019 AßÖ ÂØP¨£mhx. 

{ø» uÁøn •øÓ°À 10% ÷u´©õÚ® 

HØ£kzu¨£kQÓx GÚUöPõsk C¯¢vμU PnUøP 

u¯õ›UPÄ®.  

Or 
 (b) State the various methods of depreciation. 

   £À÷ÁÖ ÷u´©õÚ ÁøPPøÍU TÖP. 



D–5266 
  4

14.  (a) From the following Balance Sheet of A & B, 
calculate interest on Capital @ 5% for the year 
ending 31st December 2018. 

Balance Sheet as on 31.12.2018. 

Liabilities Amount Assets  Amount 

 Rs.  Rs. 

A’s capital 5,000 Miscelleneous assets 10,500 

B’s capital 4,000 Drawings – A 500 

P & L Appropriation A/c – 2018 2,000   

 11,000  11,000 

  In the year 2018, A’S drawings Rs.500 and B’s 
drawing Rs.1,500. Profit during 2018 was Rs.3,000. 

A, B BQ÷¯õ›ß ¤ßÁ¸® C¸¨¦{ø»U 

SÔ¨¤¼¸¢x 31.12.2018 Ehß •i²® BsiØS 5% 

Ãu® •uÀ «x Ámiø¯U PnUQkP. 

 31.12.2018 AßÖÒÍ £i¯õÚ C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

A&ß •uÀ 5,000 £Ø£» ö\õzxPÒ 10,500

B&ß •uÀ 4,000 Gk¨¦ – A 500

C»õ£ |mh JxURk PnUS – 2018 2,000  

 11,000  11,000

   2018 B® Bsiß A&ß Gk¨¦ ¹.500 ©ØÖ® B&ß 

Gk¨¦ – ¹.1,500. 2018 B® Bsiß C»õ£® ¹.3,000. 

Or 
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 (b) A Firm earned net profits during the last three 
years as follows: 

  I year – Rs.64,000; II year – Rs. 72,000; and III year 
– Rs. 76,000. 

  The capital investment of the firm is Rs. 2,40,000. A 
Fair return on the capital having regard to the risk 
involved is 10%. Calculate the value of goodwill on 
the basis of 3 years purchase of super profits.  

   Ph¢u  ‰ßÖ BskPÎÀ J¸ {ÖÁÚ® Dmi¯ C»õ£ 

Â£μ® ¤ßÁ¸©õÖ : 

I B® Bsk – ¹.64,000; II B® Bsk – ¹.72,000; 
©ØÖ® III B® Bsk – ¹.76,000. 

{ÖÁÚzvß •u½k ¹.2,40,000. •u½miØS EÒÍ 

A£õ¯zøu P¸zvÀöPõsk £õºUS®ö£õÊx Ax 

{¯õ¯©õP 10% «ÒÁμøÁz u¸® GÚ 

Gvº£õºUP¨£kQÓx. ]Ó¨¦ C»õ£[PÎß 3 Bsk 

öPõÒ•u¼ß Ai¨£øh°À |Øö£¯›ß ©v¨ø£U 

PnUQkP. 

15.  (a) The directors of Z Co. Ltd Forfeit 10 shares of Rs.50 
each belonging to Karthik who had paid Rs.5 per 
share on application, Rs.10 on allotment and Rs.15 
on First Call but failed to pay the final call of Rs.20. 
The same shares are then reissued to Raj as fully 
paid on receipt of Rs.400. Pass Journal entries with 
narration to record the forfeiture and then reissue 
of shares. 

   Z {ÖÁÚzvÀ C¯US|ºPÒ, PõºzvUQh® EÒÍ ¹.50 

©v¨¦ÒÍ 10 £[SPøÍ JÖ¨¤Ç¨¦ ö\´uÚº. PõºzvU 

A¢u £[SPÐUPõP ¹.5I Âsn¨£zvß «x®, 

¹.10&I JxUQß «x®, ¹.15&I •uÀ AøÇ¨¦z 
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öuõøP¯õPÄ® ö\¾zvÚõº. BÚõÀ ¹.20&CÖv 

AøÇ¨¦ öuõøPø¯ ö\¾zuõuÀ JÖ¨¤Ç¨¦ ö\´x, 

A÷u £[SPøÍ μõä Gß£Á¸US ¹. 400US 

•izöuõøP¯õP ö£ØÖUöPõsk ©Ö öÁÎ±k 

ö\´uÚº. E›¯ SÔ¨÷£mk £vÄPøÍ ÂÍUP 

SÔ¨¦hß, JÖ¨¤Ç¨¦ ©ØÖ® ©ÖöÁÎ±khß u¸P. 

Or 

 (b) State the condition for the issue of redeemable 
preference shares.  

   «Òu¸ •ßÝ›ø©¨ £[SPøÍ öÁÎ°kÁuØPõÚ 

{£¢uøÚPøÍ ÂÁ›. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16.  Define Company. Explain its types and formation of 
company. 

{Ö©® Áøμ¯Ö. {Ö©zvß ÁøPPÒ ©ØÖ® E¸ÁõUP® £ØÔ 

ÂÍUSP. 

17. Record the following transactions in Three Columns Cash 
Book: 

2019  Rs. 

Jan. 1  Cash in hand  2,500

Jan. 1 Cash at bank 10,000

Jan. 2 Paid into Bank 1,000

Jan. 5 Furniture purchased by issuing cheque 2,000

Jan. 8 Cash purchase 500

Jan. 12 Received from Madan  980

 Discount allowed 20
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2019  Rs. 

Jan. 14 Cash sales 4,000

Jan. 16 Payment made to Chakravarthy by cheque 1,450

 Discount allowed 50

Jan. 19 Paid into bank 400

Jan. 23 Cash drawn from bank for personal use 600

Jan. 24 Cheque received from Parthiban 1,430

 Discount allowed him 20

Jan. 26 Parthiban’s cheque deposited into bank –

Jan. 28 Cash drawn from bank for Office Expenses 2,000

Jan. 30 Rent paid by cheque 800

 ¤ßÁ¸® |hÁiUøPPøÍ ‰ßÖ £zv öμõUP HmiÀ 

£v¯Ä®:  

2019  ¹. 

áÚÁ› 1  øPÁ\ öμõUP®  2,500

áÚÁ› 1 Á[Q°À öμõUP® 10,000

áÚÁ› 2 Á[Q°À ö\¾zv¯x 1,000

áÚÁ› 5 Põ÷\õø» ö\¾zx AøÓP»ß Áõ[Q¯x 2,000

áÚÁ› 8 öμõUPzvØS öPõÒ•uÀ ö\´ux 500

áÚÁ› 12 ©uÛh® C¸¢x ö£ØÓx 980

 uÒÐ£i AÝ©vzux 20

áÚÁ› 14 öμõUP ÂØ£øÚ 4,000

áÚÁ› 16 \UμÁºzvUS Põ÷\õø» ‰»® AÎzux 1,450

 uÒÐ£i AÝ©vzux 50

áÚÁ› 19 Á[Q°À ö\¾zv¯x 400

áÚÁ› 23 uÛ¨£mh ö\»ÄPÐUS GÚ Á[Q°À C¸¢x Gkzux 600

áÚÁ› 24 £õºzv£Ûh® C¸¢x Põ÷\õø» ö£ØÓx 1,430

 AÁ¸US uÒÐ£i AÝ©vzux 20
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2019  ¹. 

áÚÁ› 26 £õºzv£Ûß Põ÷\õø» Á[Q°À Ch¨£mhx –

áÚÁ› 28 A¾Á»P ö\»ÄPÐUS GÚ Á[Q°À Gkzux 2,000

áÚÁ› 30 Põ÷\õø» ‰»® ÁõhøP ö\¾zv¯x 800

18. Mr. Srinivasan, a Partner in a Firm has taken the 
following amounts from his firm for the half year ending 
30.06.2019. 

Amount Due Date 

Rs.  

5,100 08.01.2019

3,500 12.02.2019

4,000 15.03.2019

3,600 10.04.2019

3,700 06.05.2019

6,000 08.06.2019

 Interest is calculated @10% p.a. Calculate average due 
date and the amount of Interest. 
v¸. ^ÛÁõ\ß Gß£Áº J¸ {Ö©zvß TmhõÎ BÁõº. 

30.06.2019 B® •iÄÖ® Aøμ¯õsiÀ AÁº u©x 

{Ö©zvÀ C¸¢x GkzxÒÍ öuõøP ¤ßÁ¸©õÖ: 

öuõøP uÁøn |õÒ

¹.  

5,100 08.01.2019 

3,500 12.02.2019 

4,000 15.03.2019 

3,600 10.04.2019 

3,700 06.05.2019 

6,000 08.06.2019 

Ámi BsiØS 10% PnUQh¨£kQÓx. \μõ\› uÁøn |õÒ 

©ØÖ® Ámiø¯²® PnUQkP. 
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19. A and B are Partners sharing profits in proportion of  

3 : 1. On 31.12.2019 their Balance Sheet stood as follows : 

Balance Sheet 

Liabilities Amount Assets Amount

 Rs.  Rs. 

Creditors 37,500 Bank 22,500

General Reserve 4,000 Bills Receivable 3,000

A’s capital 30,000 Debtors 16,000

B’s capital 16,000 Stock 20,000

  Furniture 1,000

  Building  25,000

 87,500  87,500

 They admit ‘C’ into partnership, subject to the following 

terms : 

  (a) That ‘C’ pays Rs. 10,000 as capital for fifth share in 

future profit. 

  (b) That goodwill account be raised  in the books of the 

new firm for Rs. 10,000 

  (c) Stock and Furniture be reduced by 10% and 5% 

reserve for doubtful debts be created on debtors. 

  (d) Building be appreciated by 20%. 

   Prepare Revaluation a/c, Capital a/c and Balance 

Sheet of new firm. 
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 A ²® B ²® C»õ£zøu 3 : 1 GßÓ ÂQuzvÀ ¤›US® 

£õPìuºPÍõÁº. 31.12.2019–À AÁºPÎß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ Aø©¢xÒÍx. 

C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦UPÒ öuõøP ö\õzxUPÒ öuõøP

 ¹.  ¹. 

PhÚõÍºPÒ 37,500 Á[Q°¸¨¦ 22,500

ö£õxU Põ¨¦ 4,000 ö£ÖÁuØS›¯ Esi¯À 3,000

•uÀ P/S :  

A  

 
30,000 

PhÚõÎPÒ 16,000

B 16,000 \μUQ¸¨¦ 20,000

  AøÓP»ß 1,000

  Pmih® 25,000

 87,500  87,500

  ‘C’ Gß£Áøμ ¦v¯ £õPìuμõP RÌPsh HØ£õmiÀ 

÷\ºUQßÓÚº : 

  (A) ‘C’  1/5 £[S C»õ£® ö£Ó, ¹. 10,000 •uÀ öPõsk 

Áμ÷Ásk®. 

  (B) ¦v¯ {ÖÁÚzvß |Øö£¯º ¹. 10,000 BS®. 

  (C) \μUQ¸¨ø£²®, AøÓP»øÚ²® 10% SøÓUP 

÷Ásk®. I¯UPhß Põ¨¦, PhÚõÎPÒ «x 5% 
E¸ÁõUP ÷Ásk® 

  (D) Pmih ©v¨ø£ 20% E¯ºzu ÷Ásk®. 

   ©Ö©v¨¥mk PnUS, •uÀ PnUS ©ØÖ® C¸¨¦ 

{ø»U SÔ¨ø£ u¯õ›UPÄ®.  
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20. XYZ Co. Ltd issued 30,000 shares of Rs. 10 each at a 
premium of Rs. 2 per share. The shares were payable as 
follows : 

  Rs. 2 on application; Rs. 5 on allotment (including 
premium); Rs. 5 on first and final call. 

  All the shares were applied for and allotted. All moneys 
were received with the exception of the first and final call 
on 1,000 shares, which were forfeited. 400 of these were 
reissued as fully paid at Rs. 8 per share. 

  Give the necessary journal entries, prepare the bank A/c 
and the balance sheet of the company. 

 XYZ ¼ªöhm 30,000 £[SPøÍ £[S JßÖUS ¹. 10 Ãu® 

¹. 2 •øÚ©zvÀ öÁÎ°mhx. £[SPÒ ¤ßÁ¸©õÖ 

ö\¾zu ÷Ási¯øÁ : 

 Âsn¨£zvß «x ¹. 2; JxURmiß «x ¹. 5 (•øÚ©® 

Em£h) •uÀ ©ØÖ® CÖv AøÇ¨¤ß «x ¹. 5 

 AøÚzx £[SPÐ® HØÖUöPõÒÍ¨£mk, JxURk 

ö\´¯¨£mhx. 

 AøÚzx öuõøPPÐ® 1,000 £[SPÒ «uõÚ •uÀ ©ØÖ® 

CÖv AøÇ¨¦ }[P»õP ö£Ó¨£mhx. AuøÚ JÖ¨¤Ç¨¦ 

ö\´uÚº. AvÀ 400 £[SPøÍ ¹. 8 Ãu® GÚ ©ÖöÁÎ±k 

ö\´uÚº. {Ö© HkPÎÀ öμõUP Hmøh²®, SÔ¨÷£mk¨ 

£vøÁ²® u¸P. 

  

———————— 
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DISTANCE EDUCATION 

Common For B.Com./B.Com. (CA) DEGREE EXAMINATION, 
MAY 2022. 

Second Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define ‘financial management’. 

 ‘‘{v°¯À ÷©»õsø©’’ & Áøμ¯Ö. 

2. What is financial leverage? 

 {v°¯À ö|®¦÷PõÀ GßÓõÀ GßÚ? 

3. Define working capital. 

 |øh•øÓ ‰»uÚ® C»UPn® u¸P.  

4. What is meant by leverage? 

 BØÓ»õuõ¯® GßÓõÀ GßÚ? 

5. Write about note on stable dividend policy.  

 {ø»¯õÚ £[Põuõ¯ öPõÒøP £ØÔ ]Ö SÔ¨¦ ÁøμP.  

Sub. Code 
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6. State any three functions of a finance manager.  

 {v ÷©»õÍ›ß £oPÒ H÷uÝ® ‰ßÔøÚU SÔ¨¤kP.  

7. What is profit maximization? 

 C»õ£® ªøP£kzxÀ GßÓõÀ GßÚ? 

8. Explain Walter model of dividend.  

 ÁõÀhº £[Põuõ¯ Aø©¨¤øÚ ÂÍUSP. 

9. What is cost of debt? 

 Phß «uõÚ ö\»Ä GßÓõÀ GßÚ? 

10. What is dividend decision? 

 £[Põuõ¯ •iÄ GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions by selecting either (a) or (b).  

11. (a) Explain briefly the nature of financial management.  

  {v ÷©»õsø©°ß C¯Àø£ _¸UP©õP ÂÍUSP. 

Or 

 (b) The company has the following capital structure.  

  10% preference share capital  Rs. 1,00,000 

  Equity share capital (Rs. 10 shares)  Rs. 1,00,000 

  The amount of operations profit              Rs.    60,000 

  The company is in 50% tax bracket. Calculate 
financial leverage.  
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  J¸ {Ö©® RÌPsh ‰»uÚ Pmhø©¨¦ öPõskÒÍx.  

  10% •ßÝ›ø© £[SPÒ  ¹. 1,00,000 

  ÷|ºø© £[S •uÀ (¹. 10 £[SPÒ) ¹. 1,00,000 

  ö\¯À£õk C»õ£ öuõøP  ¹. 60,000 

  {Ö©® 50% Á› PmhzvÀ {v ö|®¦÷PõÀ PnUQkP.  

12. (a) Explain the concept of time value of money.  

  Põ»zvß £n ©v¨¦ P¸zvøÚ ÂÍUSP. 

Or 

 (b) A company expects a dividend of Rs. 1.00 per share 
next year and is expected to grew at 6% per 
perpetually. Determine the cost of equity capital 
assuming the market price per share is Rs. 25.  

  A {Ö©® Akzu Bsk J¸ £[QØS ¹. 1 

£[Põu¯zøu Gvº£õºUQÓx ÷©¾® 6% Ãu® Bsk 

JßÖUS Áøμ C¸UQÓx. AuÝøh¯ \¢øu Âø» 

£[S JßÔUS ¹. 25 GßÖ {øÚzx AuÝøh¯ 

AhUPzøu PnUQkP.  

13. (a) Explain the components of working capital.  

  |øh•øÓ ‰»uÚzvß TÖPøÍ ÂÍUSP. 

Or 

 (b) From the following information, find out the capital 
structure.  

 Rs. 

Equity share capital 10,00,000

Preference share capital 5,00,000

Long term loans and debentures 2,00,000

Retained earnings 6,00,000

Capital surplus 50,000

Current liabilities 1,50,000

 25,00,000
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  RÌPsh ÂÁμ[PÎ¼¸¢x ‰»uÚ Aø©¨ø£U PõsP.  

 ¹. 

\© E›ø©¨ £[S ‰»uÚ® 10,00,000

•ßÝ›ø©¨ £[S ‰»uÚ® 5,00,000

}shPõ» PhßPÒ ©ØÖ® Phß £zvμ[PÒ 2,00,000

Á¸Áõ´ øÁ¨¦PÒ 6,00,000

‰»uÚ E£› 50,000

|h¨¦ ö£õÖ¨¦PÒ 1,50,000

 25,00,000

14. (a) Explain operating cycle.  

  ö\¯»õUP `ÇØ]ø¯ ÂÍUSP. 

Or 

 (b) ‘A’ company issues Rs. 1,00,000, 9% debentures at a 
premium of 10%. The cost of floatation is 2%. The 
tax rate is 60%. Find out cost of debt capital  

  ‘A’ GÝ® {Ö©® 9% Phß £zvμ[PøÍ 1,00,000US 10% 

•øÚ©zvÀ öÁÎ°kQÓx. öÁÎ°k® ö\»Ä 2% Á› 

ÂQu® 60% Phß ‰»uÚzvß AhUPzvøÚU PõsP.  

15. (a) Explain the term capital budgeting.  

  ‰»uÚ £möámi[ Gß£øu ÂÍUSP. 

Or 

 (b) Consider the following information for Moon Ltd. 
EBIT Rs. 1,120 lakh; fixed cost Rs. 700 lakh, PBT 
Rs. 320 lakh.  

  Calculate the percentage of change in EPS if sales 
increases by 5%.  
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  ‰s {Ö©zvß ¤ßÁ¸® ÂÁμ[PÒ uμ¨£mkÒÍx 

Á› ©ØÖ® ÁmiUS •¢øu¯ Á¸©õÚ® ¹ 1,120 

C»m\®; {ø» ö\»ÄPÒ & ¹. 700 C»m\® ; Á›US 

•¢øu¯ C»õ£® & ¹. 320 C»m\®.  

  ÂØ£øÚ 5% AvP›US® GÛÀ J¸ £[S Á¸Áõ°À 

HØ£k® \uÃu ©õØÓzøu PnUQkP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. ‘‘Finance is the life blood of industry’’. Explain.  

 ‘‘öuõÈØ\õø»°À {v Cμzu Kmh® ÷£õßÓx’’ & ÂÍUSP.  

17. Following particulars relate to three companies.  
A Ltd 

(Growth firm) 
B Ltd 

(Normal firm) 
C Ltd 

(Declining firm)

r = 15% r = 10% r = 5% 

kc = 10% kc = 10% kc = 10% 

E = Rs. 8 E = Rs. 8 E = Rs. 8 

 Using Walter’s model, calculate the value of equity share 
of each of these companies, if the dividend payout is.  

 (a) 25% 

 (b) 50% 

 (c) 75% 

 öPõkUP¨£mkÒÍ ‰ßÖ {Ö©[PÎß Â£μ[PÎ¼¸¢x  

A ¼ªöhm 
(ÁÍºa] {Ö©®) 

B ¼ªöhm 
(\õuõμn {Ö©®)

C ¼ªöhm 
(ÃÌa] {Ö©®)

r = 15% r = 10% r = 5% 

kc = 10% kc = 10% kc = 10% 

E = Rs. 8 E = Rs. 8 E = Rs. 8 
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 ÁõÀhº •øÓ EuÂ²hß \õuõμn £[Qß ©v¨ø£ AøÚzx 

{Ö©[PÐUS® PnUQhÄ®. £[Põuõ¯ öÁÎ ö\¾zx 

ÂQu®.  

 (A) 25% 

 (B) 50% 

 (C) 75% 

18. Explain the determinants of dividend policy of corporate 
enterprises.  

 J¸ Tmk £[S {Ö©zvÀ £[Põuõ¯ öPõÒøP {ºn°zuø» 

ÂÍUSP. 

19. From the following information, prepare a statement 
showing the estimated working capital requirements : 

 Budgeted sales - Rs. 2,60,000 p.a. 

 Analysis of cost and profit of each unit.  
 Rs.

Row materials 3 

Labour 4 

Overheads 2 

Profit 1 

Selling price per unit 10 

 It is estimated that : 

 (a) Pending use, raw materials are carried in stock for 
three weeks and finished goods for two weeks.  

 (b) Factory processing will take 3 weeks.  

 (c) Suppliers will give five weeks credit and customers 
will require eight weeks credit.  

  It may be assumed that production and overheads 
accrue evenly throughout the year.  



D–5267 
    7

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x |øh•øÓ •uÀ ÷uøÁ°øÚ 

PnUQkP.  

 vmhªh¨£mh ÂØ£øÚ & ¹. 2,60,000 BsiØS AhUP® 

©ØÖ® C»õ£® (Kº A»QØS) 

 ¹.

‰»¨ö£õ¸ÒPÒ 3 

T¼ 4 

÷©Øö\»ÄPÒ 2 

C»õ£® 1 

ÂØ£øÚ Âø» 10

 Gvº£õºUPU Ti¯øÁ: 

 (A) ‰»¨ö£õ¸Ò C¸¨¦ 3 Áõμ[PÒ ©ØÖ® CÖv 

\μUQ¸¨¦ Cμsk Áõμ[PÒ  

 (B) öuõÈØ\õø»°À 3 Áõμ[PÒ ö\¯À•øÓ 

|øhö£ÖQÓx.  

 (C) PhÜ¢÷uõº 5 Áõμ[PÒ Phß ©ØÖ® PhÚõÎPÒ 8 

Áõμ[PÒ Phß   

  EØ£zv ©ØÖ® ÷©Øö\»ÄPÒ C¢u Bsk •uÀ 

\μõ\›¯õP |øhö£ÖQßÓx GÚ GkzxU öPõÒP.  

20. The following figures relate to two companies.  
 P Ltd. Q Ltd.

 (Rs. in lakhs) 

Sales 500 1,000 

Variable cost 200 300 

Contribution 300 700 

Fixed cost 150 400 

 150 300 

Interest 50 100 

Profit before tax 100 200 

 Calculate : 
 (a) Operating, financial and composite leverages  
 (b) Comment on the risk position.  
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 RÌUPõq® öuõøPPÒ Cμsk {Ö©[PÐUSz 

öuõhº¦øh¯øÁ.  

 P ¼ªm Q ¼ªm

 (¹£õ´ C»m\zvÀ) 

ÂØ£øÚ 500 1,000 

©õÖ® ö\»ÄPÒ 200 300 

£[PÎ¨¦ 300 700 

{ø»¯õÚ ö\»ÄPÒ 150 400 

 150 300 

Ámi 50 100 

Á›US •ß£õP C»õ£® 100 200 

 PõsP.  

 (A) ö\¯À£õmk, {v ©ØÖ® Tmk BØÓõ»õuõ¯[PÒ  

 (B) Chº£õmk {ø»°øÚ £ØÔ¯ P¸zx.  

  

  

———————— 
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HUMAN RESOURCE MANAGEMENT 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is job enrichment? 

 ÷Áø» ö\ÔÅmhÀ GßÓõÀ GßÚ? 

2. Define manpower planning. 

 ©ÛuÁÍz vmhzøu Áøμ¯Ö. 

3. Write a short note on performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miÀ J¸ ]Ö SÔ¨ø£ GÊxP. 

4. What is salary? 

 \®£Í® GßÓõÀ GßÚ? 

5. List the types of training. 

 £°Ø] ÁøPPøÍ £mi¯¼kP. 

6. What do you mean by wage? 

 T¼ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define human resource management. 

 ©Ûu ÁÍ •Põø©zxÁzøu Áøμ¯Ö. 

8. What is induction training? 

 yshÀ £°Ø] GßÓõÀ GßÚ? 

9. Write a note on selection. 

 ÷uºÄ SÔzx J¸ SÔ¨ø£ GÊxP. 

10. What do you mean by job evaluation? 

 ÷Áø» ©v¨¥mhÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain objectives of human resource management. 

   ©Ûu ÁÍ •Põø©zxÁzvß ÷|õUP[PøÍ ÂÍUSP.  

Or 

 (b) Sources of recruitment and selection – Explain in 
detail. 

   Bm÷\º¨¦ ©ØÖ® ÷uºÂß Buõμ[PÒ & Â›ÁõP 

ÂÍUSP. 

12. (a) Explain the steps in manpower planning. 

   ©ÛuÁÍz vmhzvÀ EÒÍ £iPøÍ ÂÍUSP. 

Or 

 (b) Illustrate the various causes of grievances. 

   SøÓPÎß £À÷ÁÖ Põμn[PøÍ ÂÍUSP. 
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13. (a) Explain the merits of incentives. 

   \¾øPPÎß ]Ó¨ø£ ÂÍUSP. 

Or 

 (b) What are the components of wage and salary? 
Explain. 

   Fv¯® ©ØÖ® \®£Ízvß TÖPÒ ¯õøÁ? ÂÍUSP. 

14. (a) “The human resource manager acts as a change 
agents” – Discuss. 

   ‘‘©Ûu ÁÍ ÷©»õÍº J¸ ©õØÓ •PÁºPÍõP 
ö\¯À£kQÓõº’’ – ÂÁõvUPÄ®. 

Or 

 (b) Explain the various methods of wage payment. 

   Fv¯U öPõk¨£ÚÂß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

15. (a) What are the important types of personality tests? 
Explain. 

   BÐø© ÷\õuøÚPÎß •UQ¯©õÚ ÁøPPÒ ¯õøÁ? 

Or 

 (b) “The scope of human resource management 
comprises of acquisition of human resources in the 
organization”. Explain. 

   ‘‘©Ûu ÁÍ •Põø©zxÁzvß ÷|õUP® {ÖÁÚzvÀ 
©Ûu ÁÍ[PøÍ øP¯P¨£kzxÁøu’’. ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain wages and salary administration. 

 Fv¯® ©ØÖ© \®£Í {ºÁõPzøu ÂÍUSP. 
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17. Difference between personnel management and human 
resource management. 

 £o¯õÍº ÷©»õsø© ©ØÖ® ©Ûu ÁÍ ÷©»õsø©US 

Cøh°»õÚ ÷ÁÖ£õk TÖP? 

18. What are the recruitment practices followed in the Indian 
organizations – both public and private sector? Explain. 

 C¢v¯ Aø©¨¦PÎÀ & ö£õx ©ØÖ® uÛ¯õº xøÓ°À 

¤ß£ØÓ¨£k® Bm÷\º¨¦ |øh•øÓPÒ ¯õøÁ? ÂÍUSP. 

19. What are the job evaluation methods? Explain any three 
methods in detail. 

 ÷Áø» ©v¨¥mk •øÓPÒ ¯õøÁ? GøÁ÷¯Ý® ‰ßÖ 

•øÓPøÍ²® Â›ÁõP ÂÍUSP. 

20. Explain the factors which affect job design. 

 ÷Áø» ÁiÁø©¨ø£ £õvUS® PõμoPøÍ ÂÍUSP. 

———————— 
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MARKETING MANAGEMENT  
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define market. 

 \¢øu Áøμ¯Ö. 

2. Who are customers? 

 ÁõiUøP¯õÍºPÒ ¯õº? 

3. Define sales promotion. 

 ÂØ£øÚ ÷©®£õmøh Áøμ¯ÖUPÄ®. 

4. What is marketing communication? 

 \¢øu¨£kzuÀ öuõhº¦ GßÓõÀ GßÚ? 

5. What is meant by brand equity? 

 uμ Aøh¯õÍ ÷|ºø© GßÓõÀ GßÚ? 

6. Define marketing environment. 

 \¢øu¨£kzuÀ `Çø» Áøμ¯ÖUPÄ®.  

Sub. Code 
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7. What is labelling? 

 Aøh¯õÍªhÀ GßÓõÀ GßÚ? 

8. What are 7P’s in service marketing? 

 ÷\øÁ \¢øu°køP°ß 7P’s ¯õøÁ? 

9. Distinguish between goods and services. 

 ÷\øÁ ©ØÖ® \μUSPÒ (£sh[PÒ) ÷ÁÖ£kzxP. 

10. What is product mix? 

 ö£õ¸m P»øÁ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) State the benefits of E-marketing. 

   E-\¢øu°køP°ß |ßø©PøÍU TÖP.  

Or 

 (b) What are the factors that constitute promotion mix? 

   ÷©®£õmiß P»øÁø¯ E¸ÁõUS® PõμoPÒ ¯õøÁ? 

12.  (a) Discuss the functions of marketing. 

   \¢øu°¯¼ß £oPÒ SÔzx ÂÁõvUPÄ®. 

Or 

 (b) Discuss briefly the problems of introducing a new 
product. 

   ¦v¯ ö£õ¸øÍ AÔ•P¨£kzxÁvÀ EÒÍ 

¤μa]øÚPÒ SÔzx _¸UP©õP ÂÁ›UP. 
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13.  (a) What are the advantages and disadvantages of 
branding a product? 

   J¸ ö£õ¸øÍ Aøh¯õÍªh¼ß |ßø© wø©PÒ 

GßÚ? 

Or 

 (b) Explain the different bases of market segmentation. 

   \¢øu¨ £S¨¤ß £À÷ÁÖ Ai¨£øhPøÍ ÂÍUSP. 

14.  (a) Discuss the elements of product mix. 

   ö£õ¸m P»øÁ°ß TÖPÒ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) What are the limitations of personal selling? 

   ÷|μi ÂØ£øÚ°ß SøÓ£õkPÒ ¯õøÁ? 

15.  (a) Explain the various components of marketing 
environment. 

   \¢øu°¯À `Ç¼ß £À÷ÁÖ A[P[PøÍ ÂÁ›. 

Or 

 (b) Define advertising. Explain the benefits and 
limitations of advertising. 

   ÂÍ®£μzøu Áøμ¯ÖUPÄ® & ÂÍ®£μzvß |ßø© 

wø©PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What is green marketing? Illustrate. 

 £_ø© \¢øu¨£kzuÀ GßÓõÀ GßÚ? ÂÍUSP. 

17. Explain the factors responsible for the growth of modern 
marketing concept. 

 ¦v¯ \¢øu°À ÷Põm£õmiß ÁÍºa]US ö£õÖ¨£õÚ 

PõμoPøÍ £ØÔ ÂÍUSP. 
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18. Explain the factors influencing pricing decision. 

 Âø» {ºn¯ •iöÁkzuø» wº©õÛUS® PõμoPÒ £ØÔ 

ÂÍUSP. 

19. Explain the different forms of sales promotion. 

 ÂØ£øÚ ö£¸UPzvß £À÷ÁÖ ÁøPPÒ £ØÔ ÂÍUSP. 

20. Explain the buying decision process. 

 Áõ[S® •iöÁkzu¼ß £i{ø»PøÍ ÂÍUSP. 

 

  

———————— 
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MERCANTILE LAW  

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define acceptance. 

 HØ¦ Áøμ¯ÖUPÄ®. 

2. What is quasi contract? 

 Aøμ J¨£¢u[PÒ GßÓõÀ GßÚ? 

3. Write a note on Guarantee. 

 EzuμÁõu® £ØÔ SÔ¨¦ GÊxP. 

4. State the objectives of consumer protection. 

 ~Pº÷Áõº £õxPõ¨¤ß ÷|õUP[PøÍU TÖP. 

5. Distinguish between void and voidable contracts. 

 öÁØÔh ©ØÖ® öÁØÔh J¨£¢u[PÐUS Cøh°À 

÷ÁÖ£kzxP. 

6. Who is incompetent to contract? 

 J¨£¢u® ö\´¯z uSv¯ØÓÁº ¯õº? 

Sub. Code 
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7. Define the term ‘Agent’ and ‘Principal’. 

 ‘•PÁº’ ©ØÖ® ‘•ußø©’ GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

8. Who is ‘consumer’ under Consumer Protection Act 1986? 

 ~Pº÷Áõº £õxPõ¨¦a \mh® 1986Cß RÌ ‘~Pº÷Áõº’ ¯õº? 

9. Distinguish between holder and holder in due course. 

 \›¯õÚ ÷|μzvÀ øÁzv¸¨£Á¸US® øÁzv¸¨£Á¸US® 
Cøh°À ÷ÁÖ£kzxP. 

10. Explain the meaning of breach of contract. 

 J¨£¢uzøu «ÖÁuß Aºzuzøu ÂÍUSP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What do you mean by contract? Give a detailed note 
on various types of contract. 

   J¨£¢u® GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 

J¨£¢u[PÒ SÔzx Â›ÁõÚ SÔ¨ø£ GÊxP. 

Or 

 (b) What is warranty? How it is different from 
condition? 

   EzuμÁõu® GßÓõÀ GßÚ? Cx {£¢uøÚ°¼¸¢x 

GÆÁõÖ ÷ÁÖ£kQÓx? 

12. (a) Write a note on : 

  (i) Performance of contract 

  (ii) Discharge of contract. 

   SÔ¨¦ ÁøμP : 

  (i) J¨£¢uzvß ö\¯ÀvÓß 

  (ii) J¨£¢uzvß öÁÎ÷¯ØÓ®. 

Or 
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 (b) Explain the working of various councils established 
under consumer Protection Act. 

   ~Pº÷Áõº £õxPõ¨¦a \mhzvß RÌ {ÖÁ¨£mh 

£À÷ÁÖ \ø£PÎß ö\¯À£õmøh ÂÍUSP. 

13. (a) Write the principal duties and liabilities of an 
agent. 

   J¸ •PÁ›ß •ußø© Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ 

GÊxP. 

Or 

 (b) What are the rights of an unpaid seller? Briefly 
discuss. 

   ö\¾zu¨£hõu ÂØ£øÚ¯õÍ›ß E›ø©PÒ ¯õøÁ? 

_¸UP©õP ÂÁõvUPÄ®. 

14. (a) Who are drawer, drawee and payee of negotiable 
instrument? Discuss. 

   £n©õP ©õØÓuUP P¸Â°ß iμõ¯º, iμõÂ ©ØÖ® 

£n® ö\¾zx£ÁºPÒ ¯õº? P»¢xøμ¯õkP. 

Or 

 (b) Briefly discuss the essential elements of bill of 
exchange. 

   £›©õØÓ ©÷\õuõÂß Azv¯õÁ]¯ TÖPøÍ 

_¸UP©õP ÂÁõvUPÄ®. 

15. (a) Define agency. How agency can be terminated? 

   {ÖÁÚzøu Áøμ¯ÖUPÄ®. Höáß] GÆÁõÖ 

{Özu¨£h»õ®? 

Or 

 (b) State the requisites of a promissory note with the 
help of some illustrations. 

   ]» ÂÍUP¨£h[PÎß EuÂ²hß EÖvö©õÈ 

SÔ¨¤ß ÷uøÁPøÍ SÔ¨¤kP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What is contract of agency? What are the different kinds 
of agents? Briefly explain the different modes by which 
agency can be created. 

 Höáß]°ß J¨£¢u® GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 

•PÁºPÒ GßÚ? G¢u Höáß] E¸ÁõUPUTi¯ öÁÆ÷ÁÖ 

•øÓPøÍ _¸UP©õP ÂÍUSP. 

17. Explain the distinguishing features of promissory notes, 
cheques and bills of exchange. 

 EÖvö©õÈ SÔ¨¦PÒ, Põ÷\õø»PÒ ©ØÖ® £›©õØÓ ¤ÀPÒ 

BQ¯ÁØÔß uÛzxÁ©õÚ A®\[PøÍ ÂÍUSP. 

18. What are the circumstances in which a party to a 
negotiable instrument is discharged from liability? 

 ÷£a_ÁõºzøuUSm£mh P¸ÂUS J¸ Pm] ö£õÖ¨¤¼¸¢x 

ÂkÂUP¨£k® `Ì{ø»PÒ ¯õøÁ? 

19. Who is an agent? What are different kinds of agents? 

 •PÁº ¯õº? £À÷ÁÖ ÁøP¯õÚ •PÁºPÒ GßÚ? 

20. Define holder in due course. What are the privileges 
available to him under the negotiable instrument Act, 
1881? 

 •øÓ¨£i E›ø© EÒÍÁμøμ Áøμ¯ÖUPÄ®. 

÷£a_ÁõºzøuUSm£mh P¸Â \mh®, 1881Cß RÌ AÁ¸US 

QøhUS® \¾øÁPPÒ ¯õøÁ? 

———————— 
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DISTANCE EDUCATION 

Common for B.Com./B.Com. (Lateral Entry) DEGREE 
EXAMINATION, MAY 2022. 

Third Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define E-Commerce. 

 ªß ÁoP® Áøμ¯ÖUPÄ®. 

2. Write a short note on legal issues in E-Business. 

 ªß ÁoPzvÀ \mh ]UPÀPÒ SÔzx J¸ ]Ö SÔ¨ø£ 

GÊxP. 

3. Definition of XML. 

 GUìG®GÀ Áøμ¯Ö. 

4. What are the steps for Electronic payment? 

 ªßÚq Pmhn® ö\¾zxÁuØPõÚ £iPÒ ¯õøÁ? 

5. Write a note on E-Mail. 

 ªßÚg\¼À J¸ SÔ¨ø£ GÊxP. 

6. Define data warehousing. 

 uμÄU Qh[øP Áøμ¯Ö. 

Sub. Code 
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7. What is internet protocol? 
 Cøn¯ ö|Ô•øÓ GßÓõÀ GßÚ? 

8. Explain Wireless Technologies with examples. 
 Á¯ºö»ì öuõÈÀ~m£[PøÍ GkzxUPõmkPÐhß 

ÂÍUSP. 

9. What do you mean by Data link layer? 
 uμÄ Cøn¨¦ AkUS GßÓõÀ GßÚ? 

10. Write a note on Transmission Control Protocol. 
 iμõßìªåß Psm÷μõÀ ¦÷μõm÷hõPõÀ J¸ SÔ¨ø£   

 GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) Highlight the disadvantages of On-line shopping. 
   Bß&ø»ß åõ¨¤[Qß wø©PøÍ 

•ßÛø»¨£kzuÄ®. 

Or 

 (b) What are the benefits of using internet based 
training methods? 

   Cøn¯ Ai¨£øh°»õÚ £°Ø] •øÓPøÍ¨ 

£¯ß£kzxÁuß |ßø©PÒ GßÚ? 

12.  (a) Explain the network infrastructure for  
E-Commerce. 

   ªß ÁoPzvØPõÚ ¤øn¯ EÒPmhø©¨ø£ 

ÂÍUSP. 

Or 

 (b) Differences between custom and E-Business. 
   uÛ¨£¯ÚzvØS® ªß ÁoPzvØS® Cøh°»õÚ 

÷ÁÖ£õkPÒ ¯õøÁ? 
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13.  (a) Explain the Role of Internet in E-Commerce. 

   ªß ÁoPzvÀ Cøn¯zvß £[øP ÂÍUSP. 

Or 

 (b) Explain security audit and its uses. 

   £õxPõ¨¦ uoUøP ©ØÖ® Auß £¯ß£õkPøÍ 

ÂÍUSP. 

14.  (a) Write the importance of E-Commerce. 

   ªß ÁoPzvß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) What are the functions of Supply Chain 
Management? 

   Â{÷¯õP \[Q¼ {ºÁõPzvß ö\¯À£õkPÒ GßÚ? 

15.  (a) Write the advantages and disadvantages of 
Extensible Markup Language  (XML). 

   Â›ÁõUPU SÔ±mk ö©õÈ°ß (GUìG®GÀ) 

|ßø©PÒ ©ØÖ® wø©PÒ GÊxP. 

Or 

 (b) Explain 

(i) Dynamic Host Configuration Protocol (DHCP) 

(ii) File Transfer Protocol (FTP). 

   ÂÍUS: 

(i) øhÚªU ÷íõìm EÒÍø©Ä ö|Ô•øÓ 

(DHCP) 

(ii) ÷Põ¨¦ £›©õØÓ ö|Ô•øÓ (FTP). 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Describe Internet Marketing technologies in detail. 

 Cøn¯ \¢øu¨£kzuÀ öuõÈÀ~m£[PøÍ Â›ÁõP 

ÂÁ›UPÄ®. 



D–5271 
  4

17. Differentiate between traditional and E-Business 
applications. 

 £õμ®£›¯ ©ØÖ® ªß ÁoP £¯ß£õkPÐUS Cøh°À 

÷ÁÖ£õkPÒ ¯õøÁ? 

18. State the Evolution of E-commerce. 

 ªß ÁoPzvß £›nõ© ÁÍºa]ø¯U TÖP. 

19. Enumerate the risks associated with electronic payments. 

 ªßÚq öPõk¨£ÚÄPÐhß öuõhº¦øh¯ A£õ¯[PøÍU 

PnUQkP. 

20. Explain the goals of Electronic Commerce. 

 ªßÚq ÁºzuPzvß SÔU÷PõÒPøÍ ÂÍUSP. 

 

 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(Lateral Entry) DEGREE 
EXAMINATION, MAY 2022. 

Third Semester 

AUDITING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by internal control? 

 EÒ Pmk¨£õk GßÓõÀ GßÚ? 

2. Define vouching. 

 EÖvö©õÈø¯ Áøμ¯Ö. 

3. What are the qualification of an auditor? 

 uoUøP¯õÍ›ß uSv GßÚ? 

4. What do you understand by auditing through computer? 

 PoÛ ‰»® uoUøP ö\´Áx GßÓõÀ GßÚ? 

5. What are the main object of an audit? 

 uoUøP°ß •UQ¯ ö£õ¸Ò ¯õøÁ? 

6. Write a note on audit programme. 

 uoUøP vmhzvÀ J¸ SÔ¨ø£ GÊxP. 

Sub. Code 
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7. What is meant by verification? 

 \›£õº¨¦ GßÓõÀ GßÚ? 

8. Write a short note on EDP audit. 

 Di¤ uoUøP SÔzx J¸ ]Ö SÔ¨ø£ GÊxP. 

9. Define Interim audit. 

 CøhUPõ» uoUøP Áøμ¯Ö. 

10. What are the advantages of internal cheque? 

 EÒ Põ÷\õø»°ß |ßø©PÒ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Difference between interim audit and continuous 
audit. 

   CøhUPõ» uoUøPUS® öuõhºa]¯õÚ uoUøPUS® 

EÒÍ ÷ÁÖ£õk TÖP. 

Or 

 (b) How are auditors of government companies 
appointed? 

   Aμ_ {ÖÁÚ[PÎß uoUøP¯õÍºPÒ GÆÁõÖ 

{¯ªUP¨£kQÓõºPÒ. 

12. (a) What are the difference between verification and 
vouching? 

   \›£õº¨¦US® EÖvö©õÈUS® GßÚ Âzv¯õ\®? 

Or 

 (b) What are the advantages of audit note book? 

   uoUøP SÔ¨¦ ¦zuPzvß |ßø©PÒ GßÚ? 
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13. (a) Explain – ‘Auditing around the computer’. 

   ÂÍUS[PÒ & ‘PoÛø¯a _ØÔ uoUøP ö\´uÀ’. 

Or 

 (b) Difference between accounting and auditing.  

   PnUQ¯À ©ØÖ® uoUøPUS Cøh°»õÚ ÷ÁÖ£õk 
TÖP. 

14. (a) Explain the need for providing depreciation. 

   ÷u´©õÚzøu ÁÇ[SÁuß AÁ]¯zøu ÂÍUSP. 

Or 

 (b) What is continuous audit? Explain its merits and 
demerits. 

   öuõhºa]¯õÚ uoUøP GßÓõÀ GßÚ? Auß uSvPÒ 

©ØÖ® SøÓ£õkPøÍ ÂÍUSP. 

15. (a) Define the term cost audit. Explain the advantages 
of cost audit. 

   ö\»Ä uoUøP GßÓ ö\õÀø» Áøμ¯ÖUPÄ® ö\»Ä 

uoUøP°ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Bring out duties of an auditor as regards vouching 
of payment of wages. 

   Fv¯U öPõk¨£ÚÄ EÖvö©õÈ öuõhº£õP J¸ 

uoUøP¯õÍ›ß Phø©PøÍ GÊxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the power and duties of an auditor under the 
companies Act 1956? 

 {ÖÁÚ[PÒ \mh® 1956Cß RÌ J¸ uoUøP¯õÍ›ß 

AvPõμ® ©ØÖ® Phø©PÒ ¯õøÁ? 
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17. Explain the classification of reserves. 

 C¸¨¦UPÎß ÁøP¨£õmøh ÂÍUSP. 

18. State the essential characteristics of a good system of 
internal check. 

 EÒ ÷\õuøÚ J¸ |À» Aø©¨¤ß Azv¯õÁ]¯ £s¦PøÍ 

SÔ¨¤kP. 

19. Explain the techniques of auditing. 

 uoUøP ö\´ÁuØPõÚ ~m£[PøÍ ÂÍUSP. 

20. What are the different types of audit? Explain. 

 £À÷ÁÖ ÁøP¯õÚ uoUøP GßÚ? ÂÍUSP. 

———————— 
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COMMON FOR B.Com./B.Com.(LE)/B.Com.(CA)/ 
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MERCHANT BANKING AND FINANCIAL SERVICES 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is merchant banking? 

 ÁoP (Â¯õ£õμ) Á[Q°¯À GßÓõÀ GßÚ? 

2. Define factoring. 

 Phß Á`À •Pø©ø¯ Áøμ¯Ö. 

3. Define cheque. 

 Põ÷\õø»ø¯ Áøμ¯Ö. 

4. What do you mean by portfolio management? 

 •u½mk¨£mi¯À ÷©»õsø© GßÓõÀ GßÚ? 

5. What is hire purchase? 

 uÁøn •øÓ öPõÒ•uÀ GßÓõÀ GßÚ? 

6. State the objectives of SEBI. 

 SEBI °ß ÷|õUP[PøÍU SÔ¨¤kP. 

Sub. Code 
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7. What is underwriting? 

 GÊzxÖv GßÓõÀ GßÚ? 

8. Define venture capital. 

 xoPμ ‰»uÚ® ÁøμÂ»UPn® u¸P. 

9. What do you mean by endorsement? 

 ¦ÓUSÔ¨¤kuÀ GßÓõÀ GßÚ? 

10. Define merger. 

 ÷\ºUøPø¯ Áøμ¯Ö. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Differentiate merger and acquisition. 

   {Ö©[PÒ Tmk ©ØÖ® øP¯P¨£kzuÀ Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›. 

Or 

 (b) Differentiate cheque from bill of exchange.  

   Põ÷\õø»ø¯ ©õØÖa ^mi¼¸¢x ÷ÁÖ£kzxP. 

12. (a) What are the effects of material alteration? 

   P¸¨ö£õ¸Ò v¸zuzvß ÂøÍÄPÒ ¯õøÁ? 

Or 

 (b) What are the techniques of portfolio revision? 

   •u½mk¨£mi¯À v¸zu® ö\´ÁuØPõÚ ~m£[PÒ 

¯õøÁ? 
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13. (a) Examine the benefits of mutual funds. 

   £μì£μ {v°ß £¯ßPøÍ ©v¨¥k ö\´P. 

Or 

 (b) Discuss the services rendered by merchant banking. 

   ÁoP Á[QPÒ BØÖ® ÷\øÁPøÍ ÂÁõv. 

14. (a) What are the merits and demerits of leasing? 

   SzuøP°ß |ßø© ©ØÖ® SøÓ£õkPÒ GßÚ? 

Or 

 (b) Explain the mechanism of venture capital with 
examples. 

   ÂøÚ {v°ß C¯[Pø©¨ø£ Euõμnzxhß 

ÂÍUSP. 

15. (a) Define financial services. Discuss the various 
services rendered by it. 

   {v°¯À ÷\øÁø¯ ÂÍUSP. AøÁ u¸® £»Âu 

÷\øÁPøÍ ÂÁõvUPÄ®. 

Or 

 (b) Explain the benefits of credit rating. 

   Phß uSv{ø» ©v¨¥mkz uμªh¼ß £¯ßPøÍ 

ÂÁ›UPÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the functions of merchant banking. 

 ÁoP Á[Q°¯¼ß £oPøÍ ÂÁ›. 

17. What are the different steps involved in factoring 
finance?  

 Phß Á`À ÷\øÁ {v°ß £À÷ÁÖ £i{ø»PÒ ¯õøÁ? 
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18. Examine the various types of leasing. 

 £À÷ÁÖ ÁøP¯õÚ SzuøP •øÓø¯ ©v¨¥k ö\´P. 

19. Describe the structure of mutual fund operations in 
India. 

 C¢v¯õÂÀ £μì£μ {vPÎß ö\¯À£õmkUPõÚ 

Pmhø©¨ø£ ÂÁ›. 

20. Explain in detail the concept of portfolio management. 

 •u½mk ÷©»õsø©°ß P¸zvøÚ Â›ÁõP ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

Common for B.Com./B.Com.(LE)/ 
(B.Com (CA),B.Com(CA)(Lateral Entry) DEGREE 

EXAMINATION, MAY 2022. 

Third Semester 

MANAGERIAL ECONOMICS   

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is managerial economics? 

 ÷©»õsø© ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. What is utility? 

 £¯ß£õk GßÓõÀ GßÚ? 

3. Define consumer surplus 

 ~Pº÷Áõº E£› Áøμ¯Ö. 

4. What is aggregate supply? 

 ö©õzu AÎ¨¦ GßÓõÀ GßÚ? 

5. What is indifference map? 

 \©÷|õUS Áøμ£h® GßÓõÀ GßÚ? 

6. Define elasticity of demand. 

 ÷uøÁ°ß ö|QÌa]ø¯ Áøμ¯Ö. 

Sub. Code 
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7. What is a demand function? 

 ÷uøÁ ö\¯À£õk GßÓõÀ GßÚ? 

8. What is market equilibrium? 

 \¢øu \©{ø» GßÓõÀ GßÚ? 

9. Mention any two properties of iso-quant curves. 

 ©õÓõ EØ£zv ÁøÍ÷Põmiß H÷uÝ® Cμsk £s¦PøÍ 

SÔ¨¤k. 

10. What is mean by opportunity cost? 

 Áõ´¨¦ ö\»Ä GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) Explain the factors influencing the demand. 

   ÷uøÁø¯ £õvUS® PõμoPøÍ ÂÍUSP. 

Or 

 (b) State the various properties of indifference curves. 

   \©÷|õUS ÁøÍ÷PõkPÒ £À÷ÁÖ £s¦PøÍU 

SÔ¨¤kP. 

12.  (a) Explain the law of diminishing marginal utility. 

   SøÓ¢u ö\À £¯ß£õmk Âvø¯ ÂÍUSP. 

Or 
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 (b) Specify the objectives of demand forecasting. 

   ÷uøÁ •ßPo¨¤ß ÷|õUP[PøÍU SÔ¨¤kP. 

13.  (a) List out the features of perfect competition. 

   {øÓÄ ÷£õmi°ß C¯À¦PøÍ £mi¯¼kP. 

Or 

 (b) Explain the short-run and long-run cost curves. 

   SÖQ¯ Põ» ©ØÖ® }sh Põ» ö\»Ä ÁøÍ÷PõkPøÍ 

ÂÍUSP. 

14.  (a) Bring out the structure of market 

   A[Põi°À Aø©¨¤øÚ öÁÎUöPõnºP. 

Or 

 (b) What are the assumptions of break-even analysis? 

   C»õ£ |mh©ØÓ B´Âß AÝ©õÚ[PÒ ¯õøÁ? 

15.  (a) Briefly explain about price discrimination. 

   Âø» ÷£u® £ØÔ _¸[P TÔ ÂÍUSP. 

Or 

 (b) State the features of monetary policy. 

   £n öPõÒøP°ß C¯À¦PøÍ SÔ¨¤kP. 

   

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the nature and scope of managerial economics. 

 ÷©»õsø© ö£õ¸Íõuõμzvß ußø© ©ØÖ® ÷|õUPzøu 

ÂÍUSP. 
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17. Assess the cost-output relation in the short run. 

 SÖQ¯ Põ»zvÀ ö\»Ä&EØ£zv Cøh÷¯¯õÚ öuõhº¤øÚ 

©v¨¥kP. 

18. Explain the equilibrium under monopoly. 

 •ØÖ›ø©°À \©{ø»°øÚ ÂÍUSP. 

19. Illustrate the law of variable proportions. 

 ©õÖQßÓ ÂQuõ\õμ Âvø¯ Áøμ£hzxhß ÂÍUSP. 

20. How price-output is determined under perfect 
competition? 

 {øÓÄ ÷£õmi°À Âø» EØ£zv GÆÁõÖ {ºn¯® 

ö\´¯¨£kQßÓx? 

  

 

———————— 
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DISTANCE EDUCATION 

Common For B.Com./ B.Com (LE), B.Com (CA),  
B.Com . (CA) (Lateral Entry) DEGREE EXAMINATION,  

MAY 2022. 

Fourth Semester 

INSURANCE MANAGEMENT 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define risk. 

 B£zøu Áøμ¯Ö   

2. Write the significance of marine Insurance. 

 PhÀ Põ¨¥miß •UQ¯zxÁzøu  GÊxP, 

3. State the importance of privatization of Insurance 
industry. 

 Põ¨¥mkzxøÓø¯ uÛ¯õº©¯©õUSÁuß •UQ¯zxÁzøu   

_ÖP. 

4. Highlights the steps involved in the process of Insurance 
underwriting. 

 Põ¨¥mk GÊzxÖv ö\¯À£õmiÀ Dk£mkÒÍ £iPøÍ 

GÊxP. 

Sub. Code 
10241/12541/
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5. Write any three principles of Insurance pricing. 

 Põ¨¥mk Âø» {ºn¯zvß ‰ßÖ öPõÒøPPøÍ²® 

GÊxP. 

6. What do you mean by personal risk? 

 uÛ¨£mh B£zx GßÓõÀ GßÚ? 

7. State the meaning of Insurance underwriting. 

 Põ¨¥mk GÊzxÖv AÎ¨£uß AºzuzøuU TÖP. 

8. Write short notes on claims management. 

 E›ø©÷PõμÀ ÷©»õsø© SÔzu ]Ö SÔ¨¦PøÍ GÊxP.  

9. What are the modes used by Insurance company in 
channelizing the funds? 

 {vPøÍU ÷\º¨£vÀ Põ¨¥mk {ÖÁÚ® £¯ß£kzx® 

•øÓPÒ ¯õøÁ?  

10. Mention the need for Insurance underwriting. 

 Põ¨¥mk GÊzxÖv ÷uøÁ Gß£øu SÔ¨¤kP.  

SECTION B — (5 × 5 = 25 marks) 

 Answer ALL questions, Choosing either (a) or (b). 

11. (a) Write the short notes of the term “risk”. 

  “B£zx” GßÓ Áõºzøu°ß ]Ö SÔ¨¦PøÍ GÊxP. 

Or 

 (b) What are the problems associated with public 
Insurance enterprises? 

  ö£õxPõ¨¥mk {ÖÁÚ[PÐhß  öuõhº¦øh¯ 

]UPÀPÒ ¯õøÁ? 
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12. (a) Explain the elements of five Insurance contract. 

  I¢x Põ¨¥mk J¨£¢uzvß TÖPøÍ ÂÍUSP. 

Or 

 (b) Write short notes on “Life Insurance”. 

  “B²ÒPõ¨¥k” SÔzx ]Ö SÔ¨¦PøÍ GÊxP 

13. (a) What are the important activities carried out in a 
life Insurance organization? 

  B²ÒPõ¨¥mk {ÖÁÚzvÀ ÷©ØöPõÒÍ¨£k® 

•UQ¯©õÚ |hÁiUøPPÒ ¯õøÁ?  

Or 

 (b) Explain the areas of application of Re-Insurance. 

  ©ÖPõ¨¥møh¨ £¯ß £kzxÁuØPõÚ £SvPøÍ 

ÂÍUSP. 

14. (a) State the factors influencing the key functioning of 
Insurance organization. 

  Põ¨¥mk  Aø©¨¤ß •UQ¯ ö\¯À£õmøh £õvUS® 

PõμoPøÍU TÖP.  

Or 

 (b) Elaborate the role of riders in Insurance policies. 

  Põ¨¥mkU öPõÒøPPÎÀ øμhºêß £[øP Â›ÁõPU 

TÖP.  

15. (a) Highlights the significance of liability Insurance in 
India. 

  C¢v¯õÂÀ ö£õÖ¨¦ Põ¨¥miß •UQ¯zxÁzøu   

GÊxP.  

Or 

 (b) What are the types of documents needed in various 
types of claim? 

  £À÷ÁÖ ÁøP¯õÚ E›ø©÷PõμÀPÎÀ ÷uøÁ¯õÚ 

BÁn[PÎß ÁøPPÒ ¯õøÁ? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions  

16. Explain the elements of five Insurance contract. 

 I¢x Põ¨¥mk J¨£¢uzvß TÖPøÍ ÂÍUSP. 

17. What are the problems associated with public Insurance 
enterprise? 

 ö£õxPõ¨¥mk {ÖÁÚzxhß öuõhº¦øh¯ ]UPÀPÒ 

¯õøÁ? 

18. What are the tools of managing expenses in the insurance 
companies? 

 Põ¨¥mk {ÖÁÚ[PÎÀ ö\»ÄPøÍ {ºÁQ¨£uØPõÚ 

P¸ÂPÒ ¯õøÁ? 

19. Elaborate the relation between Insurance and Economic 
growth. 

 Põ¨¥k ©ØÖ® ö£õ¸Íõuõμ ÁÍºa]US Cøh°»õÚ EÓøÁ 

Â›ÁõPU TÖP. 

20. What are the significance of risk management function 
within business organization? 

 ÁoP {ÖÁÚzvØSÒ Chº÷©»õsø© ö\¯À £õmiß 

•zv¯zxÁ® GßÚ? 

 

  

–––––––––––––––– 
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BUSINESS STATISTICS 
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Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State the objectives of dispersion.  

 ]uμ»ÍøÁ°ß ÷|õUP[PøÍU TÖP. 

2. What are the qualities of a good average? 

 ]Ó¢uöuõ¸ \μõ\›°ß Sn[PÒ GßÚ? 

3. Mention any two uses of time series. 

 Põ»zöuõh›ß H÷uÝ® Cμsk £¯ßPøÍ SÔ¨¤kP. 

4. What is probability?  

 {PÌuPÄ GßÓõÀ GßÚ? 

5. What is Index Number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

6. State the functions of Statistics. 

 ¦ÒÎ°¯¼ß ö\¯À£õkPøÍ TÖP. 

Sub. Code 
10242/12542/
12342/12842
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7. What is a range? 

 Áμ®¦ GßÓõÀ GßÚ? 

8. State the characteristics of ANOVA. 

 ©õÖ® AÍÄ¨ £S¨£õ´Âß Sn[PøÍ SÔ¨¤kP. 

9. What is F–test? 

 F–÷\õuøÚ GßÓõÀ GßÚ? 

10. What are the components of time series?  

 Põ»®\õº öuõhºÁ›ø\°ß £SvPÒ ¯õøÁ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the limitations of Statistics. 

  ¦ÒÎ°¯¼ß Põn¨£k® SøÓPøÍ ÂÁ›. 

Or 

 (b) Distinguish between Correlation and Regression. 

  JmkÓÄ öPÊÄUS® öuõhº¦ ÷£õUS öPÊÄUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) Find regression equation from the following data : 

X 18 19 20 21 22 23 24 25 26 27

Y 17 17 18 18 19 19 19 20 21 22

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Ehßöuõhº¦ ÷£õUS 

\©ß£õkPøÍU PõsP.  

X 18 19 20 21 22 23 24 25 26 27

Y 17 17 18 18 19 19 19 20 21 22

Or 
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 (b) Explain the methods of constructing Index Number. 

  SÔ±mk GsPøÍ Pmhø©¨£uØPõÚ •øÓPøÍ 

ÂÍUSP. 

13. (a) Find the range and coefficient. 
Marks 10-20 20-30 30-40 40-50 50-60

No.of Students  7 10 13 8 4 

  Ãa_ ©ØÖ® öPÊøÁU Psk¤iUPÄ®. 

©v¨ö£sPÒ 10-20 20-30 30-40 40-50 50-60

©õnÁºPÎß GsoUøP 7 10 13 8 4 

Or 

 (b) What is the probability of getting 3 white balls in a 
draw of 3 balls from a box containing  6 white and 5 
red balls? 

  6 öÁÒøÍ £¢xPÒ ©ØÖ® 5 ]Á¨¦ £¢xPÒ EÒÍ 

ö£mi°À 3 öÁÒøÍ¨ £¢xPÒ Gk¨£uØPõÚ 

{PÌuPÄ GßÚ? 

14. (a) What are the merits and demerits of Rank 
Correlation?  

  uμÁ›ø\ Ehß öuõhº¦UöPÊÂß ]Ó¨¦ ©ØÖ® 

SøÓPÒ ¯õøÁ? 

Or 

 (b) Find co-efficient of skewness from the data given 
below : 
X 3 4 5 6 7 8 9 10

Y 7 10 14 35 102 136 43 8 

  R÷Ç uμ¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ÷PõmhUöPÊøÁU 

PõsP.  

X 3 4 5 6 7 8 9 10

Y 7 10 14 35 102 136 43 8 
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15. (a) Calculate trend value by the 4 yearly moving 
average method for the following data : 

Year 1991 1992 1993 1994 1995 1996 1997

Value 41 61 55 48 53 67 62 

Year 1998 1999 2000 2001 2002 2003  

Value 60 67 73 78 76 84  

  ¤ßÁ¸® ÂÁμ[PÐUS 4 Á¸h |P¸® \μõ\› 

•øÓø¯¨ £¯ß£kzv ÷£õUS ©v¨¤øÚU PnUQkP.  

Bsk 1991 1992 1993 1994 1995 1996 1997

©v¨¦ 41 61 55 48 53 67 62 

Bsk 1998 1999 2000 2001 2002 2003  

©v¨¦ 60 67 73 78 76 84  

Or 

 (b) A random sample of recent repair jobs was selected 
and estimated cost and actual cost were recorded.   

Estimated Cost 300 450 800 250 500 975 475 400

Actual Cost 273 486 734 297 631 872 396 457

  Calculate the value of Spearman’s correlation 
coefficient. 

  \©Áõ´¨¦ •øÓ°À ÷uº¢öukUP¨£mha \«£zv¯¨ 

£Êx ÷Áø»PÎß ©v¨¤h¨£mh Âø» ©ØÖ® A\À 

Âø» £vÄa ö\´¯¨£mkÒÍx. 

©v¨¤h¨£mh 

ö\»Ä 

300 450 800 250 500 975 475 400

A\À ö\»Ä 273 486 734 297 631 872 396 457

  ì¤¯ºö©ßÛß uμ JmkÓÄU öPÊÂøÚ PnUQkP. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

Each question carries 10 marks. 

16. What do you mean by Sampling? Describe the types of 
Sampling Methods. 

 TöÓk¨¦ GßÓõÀ GßÚ? TöÓk¨¦ •øÓ°ß ÁøPPøÍ 

£ØÔ ÂÁ›. 

17. From the following  information, calculate quartile 
deviation and co-efficients of quartile deviation. 

 C.I 351-500 501-650 651-800 801-950 951-1100

f 48 189 88 4 28 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS, PõÀ©õÚ Â»UP® 

©ØÖ® PõÀ©õÚ Â»UPU öPÊ PõsP. 

C.I 351-500 501-650 651-800 801-950 951-1100

f 48 189 88 4 28 

18. From the following information, calculate Price Index 
Number based on  

 (a) Laspayre’s Method 

 (b) Passche’s Method and  

 (c) Fisher’s Ideal Index Method 

2000 2001  
Commodity 

Price Quantity Price Quantity

A 2 8 4 5 

B 5 12 6 10 

C 4 15 5 12 

D 2 18 4 20 
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 ¤ßÁ¸® ÂÁμ[PÐUS  

 (A) »õì¤¯º •øÓ 

 (B) £õæ°ß •øÓ 

 (C) ¤å›ß •øÓ ‰»® ÂøÍU SÔ±möhs PõsP 

2000 2001  

ö£õ¸mPÒ 
Âø» AÍÄ Âø» AÍÄ

A 2 8 4 5 

B 5 12 6 10 

C 4 15 5 12 

D 2 18 4 20 

19. Discuss the common methods of elimination of seasonal 
variation.  

 £¸ÁPõ» ©õØÓ[PøÍ }UP EuÄ® ö£õxÁõÚ •øÓPøÍ 

ÂÁõvUPÄ®. 

20. Calculate Mean, Median, Mode from the following table : 
X 0-10 10-20 20-30 30-40 40-50

F 4 10 18 6 2 

 ¤ßÁ¸® AmhÁøn°¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® 

•Pmiß ©v¨¦ PnUQkP. 

X 0-10 10-20 20-30 30-40 40-50

F 4 10 18 6 2 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What are the objectives of business enterprises? 

 ÁoP {ÖÁÚ[PÎß ÷|õUP[PÒ ¯õøÁ?  

2. Write the factors to be considered while lighting an office. 

 A¾Á»Pzøu JÎμa ö\´²®÷£õx P¸zvÀ 

öPõÒÍ÷Ási¯ PõμoPøÍ GÊxP. 

3. Explain proof correction. 

 Buõμ® v¸zu® ÂÍUSP. 

4. Write the role of office manager. 

 A¾Á»P ÷©»õÍ›ß £õzvμzøu GÊxP. 

5. Write the meaning of audio transcription. 

 Bi÷¯õ iμõßìQ›¨åÛß Aºzuzøu GÊxP. 

Sub. Code 
10243/12543
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6. What is office manual? 

 A¾Á»P øP÷¯k GßÓõÀ GßÚ? 

7. Highlights the benefits of specialization. 

 {¦nzxÁzvß |ßø©PøÍ GÊxP. 

8. State the importance of office Management. 

 A¾Á»P ÷©»õsø©°ß •UQ¯zxÁzøu TÖP. 

9. What is office reports? 

 A¾Á»P AÔUøPPÒ GßÓõÀ GßÚ? 

10. Highlights the importance of communication. 

 uPÁÀ öuõhº¦ •UQ¯zxÁzøu GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) Explain the types of layout. 

   uÍÁø©¨¦ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Write the short notes on office correspondence. 

   A¾Á»P PiuzvÀ ]Ö SÔ¨¦ GÊxP. 

12.  (a) State the benefits of an office management. 

   A¾Á»P {ºÁõPzvß |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) Explain organizational chart. 

   {ÖÁÚ ÂÍUP¨ £hzøu ÂÍUSP. 
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13.  (a) Explain process of communication. 

   uPÁÀ öuõhº¦ ö\¯À•øÓø¯ ÂÍUSP. 

Or 

 (b) Write the short notes on data processing system. 

   uμÄ ö\¯»õUP Aø©¨¤À ]Ö SÔ¨¦ GÊxP. 

14.  (a) Write the guidelines for good stock keeping in office. 

   A¾Á»PzvÀ |À» £[SøÁz v¸¨£uØPõÚ 

ÁÈPõmkuÀPøÍ GÊxP. 

Or 

 (b) Highlights the importance of form management. 

   £iÁ {ºÁõPzvß •UQ¯zxÁzøu GÊxP. 

15.  (a) Explain the features of a well designed form. 

   |ßS ÁiÁø©UP¨£mh £iÁzvß A®\[PøÍ 

ÂÍUSP. 

Or 

 (b) State the principles governing records management. 

   £vÄPøÍ {ºÁQUS® öPõÒøPPøÍ SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elaborate importance of office management. 

 A¾Á»P {ºÁõPzvß Â›ÁõÚ •UQ¯zøu GÊxP. 

17. Explain barriers to communication. 

 uPÁÀ öuõhº¦UPõÚ uøhPøÍ ÂÍUSP. 
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18. Explain the term office manual. 

 A¾Á»P øP÷¯k GßÓ ö\õÀø» ÂÍUSP. 

19. Explain the term office layout. 

 A¾Á»P uÍÁø©¨¦ GßÓ ö\õÀø» ÂÍUSP. 

20. Explain the methods of data collection. 

 uμÄ ÷\P›¨¦ •øÓPøÍ ÂÍUSP. 

 

  

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Budgetary control. 

 ÁμÄ ö\»Ä vmh Pmk¨£õk Áøμ¯Ö. 

2. What is meant by Working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

3. What is cash flow statement? 

 öμõUP Kmh £S¨£õ´Ä GßÓõÀ GßÚ? 

4. State the meaning of Break Even Point. 

 \›\© ¦ÒÎ Gß£vß ö£õ¸Ò TÖP. 

5. Write the advantages of Marginal costing. 

 CÖv {ø»a ö\»Ä •øÓ°ß |ßø©PøÍ GÊxP. 

Sub. Code 
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6. State the objectives of Management accounting. 

 ÷©»õsø© PnUQ¯¼ß SÔU÷PõÒPøÍ TÖP. 

7. What is meant by inflation accounting? 

 £nÃUP PnUQ¯À GßÓõÀ GßÚ? 

8. What is Ratio analysis? 

 ÂQu[PøÍ B´Ä ö\´uÀ GßÓõÀ GßÚ? 

9. What is a Master Budget? 

 uø»ø© vmh¨£mi¯À GßÓõÀ GßÚ? 

10. Write about Labour variance. 

 EøÇ¨¦ ©õÖ£õk £ØÔ GÊxP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Calculate Break even point from the following : 

  Fixed expenses  – Rs.1,00,000 

  Variable cost per unit – Rs.12 

  Selling price per unit – Rs.20 

  RÌPõq® ÂÁμ[PøÍU öPõsk C»õ£ |mh \©{ø» 

¦ÒÎø¯U PõsP. 

  {ø»¯õÚ ö\»ÄPÒ – ¹.1,00,000 

  ©õÖ£k® ö\»ÄPÒ  

  (Kº A»QØS) – ¹.12 

  ÂØ£øÚ Âø»   

  (Kº A»QØS) – ¹.20 

Or 
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 (b) What is Management accounting? Explain its 
functions. 

  ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? Auß 

ö\¯À£õkPøÍ ÂÁ›. 

12. (a) State the significance of capital budgeting. 

  ‰»uÚ ÁμÄ ö\»Ä vmhzvß •UQ¯zxÁ® £ØÔ 

GkzxøμUP. 

Or 

 (b) From the following information, Prepare a 
Comparative Income Statement for the year  
2014 and 2015 

Profit and Loss account 
 2014 2015  2014 2015

 Rs. Rs.  Rs. Rs. 

To cost of goods sold 600 750 By Net sales 800 1,000

To Administrative    

expenses 20 20  

To Selling expenses 30 40  

To Net profit 150 190  

 800 1,000  800 1,000

  ¤ßÁ¸® Â£μ[PÎ¼¸¢x 2014 ©ØÖ® 2015&® 

BskPÐUPõÚ J¨¥mk Á¸©õÚ AÔUøP°øÚ 

u¯õ›UPÄ® 

C»õ£ |mh P/S 

 2014 2015  2014 2015

    ¹.     ¹.    ¹.     ¹.

ÂØP¨£mh \μUQß   {Pμ   

AhUPÂø» 600 750 ÂØ£øÚ 800 1,000

{ºÁõP ö\»Ä 20 20  
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 2014 2015  2014 2015

    ¹.     ¹.    ¹.     ¹.

ÂØ£øÚ ö\»Ä 30 40  

{Pμ C»õ£® 150 190  

 800 1,000  800 1,000

13. (a) A profit costs Rs.5,00,000 and yield annually a 

profit of Rs.80,000 after depreciation at 12% p.a. but 

before tax at 50%. Calculate pay-back period. 

  J¸ vmha ö\»Ä ¹.5,00,000, Á¸h C»õ£® ¹.80,000 

CzöuõøP¯õÚx BsiØS 12% ÷u´©õÚ® GÊv¯ 

¤ÓS®, Á› 50%  PnUQk® •ßÚ¸® 

PnUQh¨£mhuõS®. v¸®£ ö\¾zx® Põ» 

PmhzvøÚU PnUQkP. 

Or 

 (b) Calculate the trend percentages from the following 

data taking 2006 as the base year 

As at 31st December 

Current Assets 2006 2007 2008 2009 

 Rs. Rs. Rs. Rs. 

Cash at bank 10,000 12,000 13,000 15,000

Bank debts 15,000 18,000 25,000 30,000

Stock 20,000 30,000 40,000 50,000

Bills receivable 5,000 7,500 10,000 15,000



D–5278 
  5

  RÌÁ¸® 2006 B® Bsiß ÂÁμ[PøÍ öPõsk 

2006 BsiøÚ Ai¨£øh BshõP öPõsk ÷£õUS 

ÂQuzøu PnUQkP 

31, i\®£º À 

|øh•øÓa ö\õzxUPÒ 2006 2007 2008 2009 

 ¹. ¹. ¹. ¹. 

Á[Q öμõUP® 10,000 12,000 13,000 15,000

Á[Q Phß 15,000 18,000 25,000 30,000

\μUS 20,000 30,000 40,000 50,000

ö£ÖuØS›¯ ©õØÖa^mk 5,000 7,500 10,000 15,000

14. (a) Discuss the factors determining the working capital 
requirements of a firm.  

  J¸ {ÖÁÚzvß |øh•øÓ ‰»uÚz ÷uøÁ°øÚ 

{ºn°UP Ti¯ PõμoPøÍ ÂÁõv. 

Or 

 (b) From the following information, calculate cash from 
operation during the year 2007. 

Particulars 2006 2007 

 Rs. Rs. 

Debtors 50,000 47,000

Bills receivable 10,000 12,500

Creditors 20,000 25,000

Bills payable 8,000 6,000

Outstanding expenses 1,000 1,200

Prepaid expenses 800 700

Accrued income 600 750

Income received in advance 300 250

  Profit during 2007 was Rs.1,30,000. 
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  RÌPõq® ÂÁμ[PÎ¼¸¢x 2007&® BsiØPõÚ 

ö\¯À£õmk ÁÈ öμõUPzvøÚU PnUQkP. 

ÂÁμ® 2006 2007 
 ¹. ¹. 
PhÚõÎPÒ 50,000 47,000
ö£ÖuØS›¯ ©õØÖ ^mk 10,000 12,500
PhÜ¢÷uõº 20,000 25,000
ö\¾zuØS›¯ ©õØÖ ^mk 8,000 6,000
öPõk£h ÷Ási¯ ö\»ÄPÒ 1,000 1,200
•ßTmi ö\¾zv¯ ö\»ÄPÒ 800 700
HÔ¯ Á¸©õÚ® 600 750
•ß÷£ ö£Ó¨£mh Á¸©õÚ® 300 250

  2007&À C»õ£® – ¹.1,30,000 

15. (a) Fixed cost    Rs.8,000 

  Break even sales (in units) 4,000 

  Sales     7,000 units 

  Selling price per unit  10 

  Calculate : 

  (i) Variable cost 

  (ii) Profit. 

  {ø»¯õÚ ö\»Ä    ¹.8,000 

  \©¦ÒÎ ÂØ£øÚ (A»SPÎÀ) 4,000 

  ÂØ£øÚ    7,000 A»SPÒ 

  J¸ A»QÀ ÂØ£øÚ Âø»  10 

  PnUQkP : 

  (i) ©õÖ® ö\»Ä 

  (ii) C»õ£®. 

Or 
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 (b) Prepare a Cash budget from April to June : 

 Sales Purchases Expenses

 Rs. Rs. Rs. 

February 1,80,000 1,24,800 12,000

March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000

May 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000

  50% of the credit sales is collected in the month 
following and the remaining in the second month. 
Credit purchases are paid in the next month. Cash 
at bank on 1st April Rs.25,000. 

  H¨μÀ •uÀ áüß Áøμ°»õÚ öμõUP ÁμÄ ö\»Ä 

vmh® JßÖ u¯õ›UPÄ® 

 ÂØ£øÚ öPõÒ•uÀ ö\»ÄPÒ

 ¹. ¹. ¹. 

¤¨μÁ› 1,80,000 1,24,800 12,000

©õºa 1,92,000 1,44,000 14,000

H¨μÀ 1,08,000 2,43,000 11,000

÷© 1,74,000 2,46,000 10,000

áüß 1,26,000 2,68,000 15,000

  Phß ÂØ£øÚ°À 50 \uÃu® ¤ßÁ¸® ©õuzvÀ 

Á`¼UP¨£mhx. «u® EÒÍ öuõøP CμshõÁx 

©õuzvÀ Á`¼UP¨£kQßÓx. Phß öPõÒ•uÀ Akzu 

©õuzvÀ öPõkUP¨£kQßÓx. H¨μÀ 1&® ÷uv¯ßÖ 

Á[Q°À öμõUP C¸¨¦ ¹.25,000 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the steps for the successful implementation of 
budgetary control. 

 ÁμÄ ö\»Ä vmh Pmk¨£õk öÁØÔPμ©õP ö\¯À£kzx® 

|hÁiUøPPøÍ ÂÍUSP. 

17. Explain the Gordon’s dividend policy. What are its 
drawbacks? 

 PõºhÛß £[Põuõ¯U öPõÒøPø¯ ÂÍUSP. Auß 

SøÓ£õkPÒ ¯õøÁ? 

18. Following are the Balance Sheet of a firm 

Liabilities 1.1.2015 31.12.2015 Assets 1.1.2015 31.12.2015

 Rs. Rs.  Rs. Rs. 

Capital 88,000 1,32,000 Cash 4,800 4,000

General Reserve 6,000 9,000 Debtors 36,500 39,100

P&L a/c 19,500 20,800 Stock 22,100 26,000

Loan – 26,000 Furniture 2,400 1,500

Creditors 43,300 47,300 Machinery 35,600 51,300

   Buildings 55,400 1,13,200

 1,56,800 2,35,100  1,56,800 2,35,100

 Depreciation written off during the year 2015 was as 
under : 

     Rs. 

 Machinery  – 12,800 

 Furniture  – 400 

 Prepare fund flow statement. 
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 J¸ {ÖÁÚzvß C¸¨¦ {ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ 1.1.2015 31.12.2015 ö\õzxPÒ 1.1.2015 31.12.2015

 ¹. ¹.  ¹. ¹. 
•uÀ 88,000 1,32,000 öμõUP® 4,800 4,000

ö£õxPõ¨¦ 6,000 9,000 PhÚõÎPÒ 36,500 39,100

C»õ£ |mh P/S 19,500 20,800 \μUQ¸¨¦ 22,100 26,000

Phß – 26,000 AøÓP»ß 2,400 1,500

PhÜ¢÷uõº 43,300 47,300 C¯¢vμ® 35,600 51,300

   Pmih® 55,400 1,13,200

 1,56,800 2,35,100  1,56,800 2,35,100

 2015À ÷u´©õÚ® ÷£õUöPÊzu¨£mh ÂÁμ® RÌÁ¸©õÖ : 

     ¹. 

 C¯¢vμ®  – 12,800 

 ©μa\õ©õßPÒ – 400 

 {v Kmh AÔUøP u¯õº ö\´¯Ä®. 

19. For the production of 10,000 Electronic Automatic Irons, 
the following are the budgeted expenses  

 Per unit
(Rs.) 

Direct material 60 
Direct labour 30 
Variable overhead 25 
Fixed overhead (Rs.1,50,000) 15 
Variable overhead (Direct) 5 
Selling expenses (10% of fixed) 15 
Administrative expenses 5 
(Rs.50,000 rigid for all level of production)  
Distribution expenses (20% of fixed) 5 
Total cost 160 

 You are required to prepare a flexible budget for 
production of 6000, 7000 and 8000 irons. 
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 10,000 G»Um›U Bm÷hõ÷©miU C¸®¦  A»SPøÍ 

EØ£zv ö\´ÁuØPõÚ vmh ö\»ÄPÒ R÷Ç 

öPõkUP¨£mkÒÍx. 

 J¸ A»S

(¹.) 

÷|μi ‰»¨ö£õ¸ÒPÒ 60 

÷|μi ÷Áø»¯õÒ 30 

©õÖ® ÷©Øö\»ÄPÒ 25 

{ø» ö\»ÄPÒ (¹.1,50,000) 15 

©õÖ® ö\»ÄPÒ (÷|μi) 5 

ÂØ£øÚ ö\»ÄPÒ (10% {ø»¯õÚx) 15 

{ºÁõP ö\»ÄPÒ 5 

(¹.50,000 AøÚzx EØ£zv AÍÂØS® {ø»¯õÚx)  

£QºÄ ö\»ÄPÒ(20% {ø»¯õÚx) 5 

ö©õzu AhUP® 160 

 6,000 7,000 ©ØÖ® 8,000 C¸®¦ A»SPøÍ u¯õ›¨£uØPõÚ 

ö|QÌÄ vmh¨£mi¯ø» }Âº u¯õ›UPÄ®. 

20. X Co. furnishes you the following information : 

 2006 2007 

 Rs. Rs. 

Sales 1,50,000 1,70,000

Profit 20,000 25,000

 Calculate : 
 (a) Profit volume ratio 
 (b) Break even point 
 (c) The amount of profit or loss when sales are 

Rs.2,50,000 
 (d) The amount of sales required to earn a profit of 

Rs.40,000 
 (e) Margin of safety at a profit of Rs.50,000. 
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 X {Ö©® ¤ßÁ¸® uPÁÀPøÍ AÎzxÒÍx. 

 2006 2007 

 ¹. ¹. 

ÂØ£øÚ 1,50,000 1,70,000

C»õ£® 20,000 25,000

 PnUQkP : 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) \›\© ¦ÒÎ 

 (C) ÂØ£øÚ ¹.2,50,000 EÒÍ ÷£õx Auß C»õ£® 

AÀ»x |mh® 

 (D) C»õ£® ¹.40,000 DmkÁuØPõÚ ÷uøÁ¯õÚ ÂØ£øÚ 

 (E) C»õ£® ¹.50,000 EÒÍ ÷£õx Auß £UP £õxPõ¨¦ 

ÂØ£øÚ AÍÄ. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(Lateral Entry) DEGREE 
EXAMINATION, MAY 2022. 

Fifth Semester 

INTERNATIONAL MARKETING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is MNC? 

 MNC GßÓõÀ GßÚ? 

2. What is international marketing? 

 £ßÚõmk \¢øu GßÓõÀ GßÚ? 

3. What is political environment? 

 Aμ]¯À `ÇÀ GßÓõÀ GßÚ? 

4. What is counter trade? 

 Gvº ÁºzuP® GßÓõÀ GßÚ? 

5. Define sales promotion. 

 ÂØ£øÚ FUSÂ¨ø£ Áøμ¯Ö. 

Sub. Code 
10251/12551
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6. What is meant by marketing research? 

 \¢øu B´Ä GßÓõÀ GßÚ? 

7. Define join ventures. 

 CønÂøÚ Áøμ¯Ö. 

8. What is dumping? 

 SÂzuÀ GßÓõÀ GßÚ? 

9. What is WTO? 

 WTO GßÓõÀ GßÚ? 

10. What is EXIM policy? 

 HØÖ©v CÓUS©v öPõÒøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Distinguish between international marketing and 
domestic marketing. 

   £ßÚõmk ©ØÖ® EÒ|õmk \¢øu¨£kzu¼ß 

Cøh÷¯²ÒÍ ]Ó¨¦ C¯À¦PøÍ SÔ¨¤kP. 

Or 

 (b) Explain about the impact of political environment in 
international business. 

   £ßÚõmk ÁoPzvÀ Aμ]¯À `Ç¼ß uõUP® SÔzx 

ÂÍUSP. 

12. (a) Describe the importance of economic environment. 

   ö£õ¸Íõuõμ `Ç¼ß •UQ¯zxÁzøu ÂÁ›. 

Or 
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 (b) Explain the functioning of special economic zones. 

   ]Ó¨¦ ö£õ¸Íõuõμ ©sh»[PÎß ö\¯À£õmøh 

ÂÍUSP. 

13. (a) What are the major functions of WTO? and explain. 

   E»P ÁºzuP Aø©¨¤ß •UQ¯ ö\¯À£õkPÒ 

¯õøÁ? ©ØÖ® ÂÍUSP. 

Or 

 (b) What are the different forms of counter trade? 

   Gvº ÁºzuPzvß öÁÆ÷ÁÖ ÁiÁ[PÒ ¯õøÁ? 

14. (a) Bring out the achievements of UNCTAD. 

   UNCTAD Cß \õuøÚPøÍ öÁÎöPõnºP. 

Or 

 (b) Explain about purpose of a foreign market survey. 

   öÁÎ|õmk \¢øu PnUöPk¨¤ß ÷|õUP® £ØÔ 

ÂÍUSP. 

15. (a) Bring out the ways of international packaging. 

   \ºÁ÷u\ öuõS¨¦UPõÚ ÁÈÁøPPøÍ öÁÎ öPõnºP. 

Or 

 (b) Explain about the factors affecting in international 

marketing. 

   \ºÁ÷u\ \¢øu¨£kzxuø» £õvUS® PõμoPøÍ¨ 

£ØÔ ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the scope and importance of international 
marketing. 

 \ºÁ÷u\ \¢øu¨£kzxu¼ß ÷|õUP® ©ØÖ® •UQ¯zxÁzøu 

ÂÍUSP. 

17. Explain international market entry strategies. 

 \ºÁ÷u\ \¢øu ~øÇÄ EzvPøÍ ÂÍUSP. 

18. Explain the various methods of export pricing. 

 HØÖ©v Âø» {ºn¯zvß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Explain the advantages of intermediaries in international 
marketing. 

 \ºÁ÷u\ \¢øu¨£kzxu¼À CøhzuμPºPÎß |ßø©PøÍ 

ÂÍUSP. 

20. Describe the significance of export documentation. 

 HØÖ©v BÁn[PÎß •UQ¯zxÁzøu ÂÁ›. 

 

  

———————— 



  

D–5280     

 
DISTANCE EDUCATION 

Common for B.Com. B.Com. (LE) B.Com. (CA), B.Com. 
(CA)/(Lateral Entry) DEGREE EXAMINATION, MAY 2022. 

Fifth Semester 

RETAIL MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by property management? 

 ö\õzxUPÒ ÷©»õsø© £ØÔ } AÔÁöußÚ? 

2. Define property user. 

 ‘ö\õzx E£÷¯õQ¨£õÍº’ – Áøμ¯Ö. 

3. List out the sources of buying property. 

 ö\õzxUPÒ Áõ[SÁuØPõÚ ‰»[PøÍ £mi¯¼kP. 

4. Define strategic property management. 

 ‰÷»õ E£õ¯ ö\õzx ÷©»õsø© Áøμ¯Ö. 

5. What is Special Economic Zone (SEZ)?  

 ]Ó¨¦ ö£õ¸Íõuõμ ©sh»® GßÓõÀ GßÚ? 

6. Write a note on role of property in business. 

 J¸ ÁoPzvÀ ö\õzxUPÎß £[QøÚ¨ £ØÔ SÔ¨¦ 

GÊxP. 

Sub. Code 
10252/12552/
12352/12852
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7. What do you mean by Retail property? 

 ]À»øμ ö\õzxUPÒ £ØÔ }Âº AÔöÁöußÚ? 

8. Define – Leasing. 

 SzuøP Áøμ¯Ö. 

9. Define Property Valuation. 

 ö\õzx ©v¨¥k – Áøμ¯Ö. 

10. What do you mean by Retail Property Industry? 

 ]À»øμ ö\õzx öuõÈÀ £ØÔ }Âº AÔöÁöußÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11.  (a) “Property management as a profession” – Explain. 

   ‘ö\õzx ÷©»õsø© Gß£x J¸ öuõÈÀ’ – ÂÍUSP. 

Or 

 (b) Describe the characteristics of property users. 

   ö\õzx E£÷¯õQ¨£õÍºPÎß C¯À¦PøÍ ÂÁ›. 

12.  (a) Describe the Essentials of buying a property. 

   ö\õzxUPÒ Áõ[SÁuß CßÔ¯ø©¯õuøÁPøÍ TÖP. 

Or 

 (b) Write a note on ‘property management plan’. 

   ‘ö\õzx ÷©»õsø© vmh®’ £ØÔ SÔ¨¦ GÊxP. 
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13.  (a) Bring out the importance of strategic property 
management. 

   ‰÷»õE£õ¯õ ö\õzx ÷©»õsø©°ß 

•UQ¯zxÁzøu öPõnºP. 

Or 

 (b) What is Bench marking? Brief out the various 
benchmarks of property.  

   ©mhU SÔ°hÀ GßÓõÀ GßÚ? £À÷ÁÖ ö\õzx 

©mhUS°hø» ÂÍUSP. 

14.  (a) State the importance of Retail Property 
Management. 

   ]À»øμ ö\õzx ÷©»õsø©°ß •UQ¯zxÁzøu 

TÖP. 

Or 

 (b) Briefly explain the way to manage Retail property.  

   ]À»øμ ö\õzxUPøÍ {ºÁQUS® ÁÈ•øÓPøÍ 

_¸UP©õP ÂÁ›. 

15.  (a) Describe the responsibilities of Retail property 
manager. 

   ]À»øμ ö\õzxPÎß ÷©»õÍ›ß ö£õÖ¨¦PøÍ TÖP. 

Or 

 (b) Classify the methods of property valuation. 

   ö\õzxUPøÍ ©v¨¤k® •øÓPøÍ ÁøP¨£kzxP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the key elements of a retail business and its 
Environments. 

 ]À»øμ Â¯õ£õμ® ©ØÖ® _ØÖ`Ç¼ß •UQ¯ TÖPøÍ 

ÂÍUSP. 
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17. Point out the relationship between property uses and the 
shareholders. 

 ö\õzx E£÷¯õQ¨£õÍº ©ØÖ® \•uõ¯ £o¯õÍ›ß EÒÍ 

öuõhº¤øÚ SÔ¨¤kP. 

18. Explain the various stages of preparation of property 
management plan. 

 ö\õzx ÷©»õsø© vmh® u¯õ›¨£uß £À÷ÁÖ Pmh[PøÍ 

ÂÍUSP. 

19. Discuss the various classifications of Retail property. 

 ]À»øμ ö\õzxUPÎß £À÷ÁÖ ÁøPPøÍ ÂÁõv. 

20. Outline the determinants of property valuation.  

 ö\õzxUPøÍ ©v¨¤k® PõμoPøÍ _¸UP©õP TÖP. 

  

———————— 
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DISTANCE EDUCATION 

Common for B.Com./B.Com. (LE)/B.Com. (CA), B.Com. (CA) 
(Lateral Entry) DEGREE EXAMINATION, MAY 2022. 

Fifth Semester 

COST ACCOUNTING 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

Each question carries equal marks.  

1. Define the term ‘cost’. 

 ‘AhUPÂø»’  GßÓ ö\õÀø» Áøμ¯Ö. 

2. What is ‘Bin card’? 

 ‘öPõÒP»ß Amøh’ Gß£x ¯õx? 

3. What is ‘Idle time’? 

 ÃnõÚ ÷|μ® GßÓõÀ GßÚ? 

4. What is meant by time rate system of wages? 

 ‘÷|μzvØ÷PØÓ T¼ •øÓ’ GßÓõÀ GßÚ? 

5. What is ‘Over absorption’ of overheads? 

 ÷©Øö\»ÄPÒ ‘AvP©õP «mP¨£kuÀ’ GßÓõÀ GßÚ? 

Sub. Code 
10253/12553/
12353/12853
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6. Give two examples of semi-variable overheads. 

 £Sv ©õÖQßÓ ÷©Øö\»ÄPÐUS Cμsk GkzxUPõmkPÒ 

u¸P. 

7. What is Job Costing? 

 ‘£o AhUPÂø» PnURk’ GßÓõÀ GßÚ? 

8. What is meant by ‘Joint Products’? 

 Cøn¨ ö£õ¸mPÒ Gß£uß ö£õ¸Ò ¯õx? 

9. What is meant by variance analysis? 

 ©õÖ£õk £S¨£õ´Ä GßÓõÀ GßÚ? 

10. State the meaning of ‘Cost control’. 

 AhUPÂø»U Pmk¨£kzuÀ Gß£vß ö£õ¸Ò GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions by choosing either (a) or (b). 

11. (a) Describe the classification of cost. 

  AhUPÂø»°ß ¤›ÄPøÍ ÂÁ›. 

Or 

 (b) What are the advantages of cost accounting? 

  AhUPÂø» PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

12. (a) Explain different methods incentives systems of 
wages. 

  FUPz vmhU T¼ •øÓPøÍ ÂÁ›. 

Or 
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 (b) State the differences between cost control and cost 
reduction. 

  AhUPÂø» Pmk¨£kzuÀ ©ØÖ® AhUPÂø» 

SøÓ¨¦ ÷ÁÖ£kzxP. 

13. (a) Following information relating to a type of material: 

  Annual demand – 2400 units;  

  Unit price – Rs. 2.40; 

  Ordering cost per order – Rs. 4.00;  

  Storage cost – 2% p.a.; 

  Interest rate 10% p.a; 

  Lead time – Half month. 

  Calculate economic ordering quantity and total 
annual inventory cost in respect of the particular 
raw material. 

  J¸ SÔ¨¤mh ÁøP ö£õ¸øÍ¨ £ØÔ¯ ÂÁμ® 

Á¸©õÖ : 

  Bskz ÷uøÁ – 2400 A»SPÒ; 

  A»S Âø» JßÖ – ¹. 2.40; 

  Kº BønUPõÚ öPõÒ•uÀ Bøn AhUPÂø» –  

¹. 4.00 

  ö£õ¸Ò ÷\ª¨¦ ö\»Ä – BskUS 2%; 

  Ámi Ãu® – BskUS 10%; 

  CøhöÁÎ Põ»® – Aøμ ©õu®. 

  ]UPÚ öPõÒ•uÀ AÍÄ ©ØÖ® BsiØPõÚ ö©õzu 

\μUQß AhUPÂø» BQ¯ÁØøÓU Psk¤i. 

Or 
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 (b) On the basis of the following information, calculate 
the earnings of workers A, B, C and D under 
Merrick’s  multiple piece rate system : 

  Standard production per hour - 6 units. Normal rate 
per hour – Rs.1. In a 8 hours day  

  A – produced 32 units  

  B – produced 48 units  

  C – produced 42 units 

  D – produced 50 units 

  ¤ßÁ¸® ÂÁμ[PøÍU öPõsk A, B, C ©ØÖ® D 

GßÓ öuõÈ»õÍºPÎß T¼ø¯ ö©º›UQß ©õÖ£mh 

A»S ÃuU T¼ •øÓ¨£i PõsP. 

  uμ©õÚ EØ£zv – ©oUS 6 A»SPÒ; C¯À£õÚ T¼ 

Ãu® ©oUS ¹. 1 BS®. 8 ©o ÷|μ® öPõsh J¸ 

|õÎÀ 

   A °ß EØ£zv – 32 A»SPÒ 

  B °ß EØ£zv – 48 A»SPÒ 

  C °ß EØ£zv – 42 A»SPÒ 

  D °ß EØ£zv – 50 A»SPÒ 

14. (a) Calculate Machine hour rate for a machine, from 
the following data : 

  Cost of machine – Rs. 1,60,000 

  Estimated Scrap value – Rs. 10,000 

  Estimated life – 1,00,000 hours  

  Running time per four weekly period – 1,600 hours 

  Average cost of repairs – for four weekly period – 
Rs. 1,200 

  Standing charges per four weekly period – Rs. 400 

  Power used by the machine 4 units at 50 paise hour. 
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  J¸ G¢vμzvß RÌUPsh ÂÁμ[PÎ¼¸¢x G¢vμ ©o 

÷|μ ÃuzøuU PnUQkP. 

  G¢vμzvß AhUP Âø» – ¹. 1,60,000 

  B²mPõ» •iÂÀ G›Âø» – ¹. 10,000 

  B²mPõ»® – 1,00,000 ©oPÒ 

  4 Áõμ[PÒ Ah[Q¯ Põ»zvØS Jmk® Põ»® – 1,600 
©oPÒ 

  4 Áõμ[PÒ Ah[Q¯ Põ»zvØS £Êx£õºUS® 

ö\»ÄPÒ – ¹. 1,200 

  4 Áõμ[PÒ Ah[Q¯ Põ»zvØS AUP¸ÂUPõÚ {ø»a 

ö\»ÄPÒ – ¹. 400 

  Âø\ £¯ß£õk J¸ ©o ÷|μzvØS 4 A»SPÒ – J¸ 

©o JßÔØS 50 ø£\õ Ãu® 

Or 

 (b) The following expenses on contract for Rs. 12,00,000 
commenced in June 2018 : 

  Material – Rs. 2,40,000 

  Wages – Rs. 3,28,000 

  Plant – Rs. 40,000 

  Overheads – Rs. 17,200 

  Cash received on account of contract upto 
31.12.2018 was Rs. 4,80,000 being 80% of work 
certified.  

  Value of materials in hand Rs. 20,000 

  Plant had undergone 20% depreciation.  

  Prepare contract account. 

  ¹. 12,00,000 ©v¨¦øh¯ J¨£¢uzvØPõÚ áüß 

2018UPõÚ ö\»ÄPÒ  ¤ßÁ¸©õÖ : 

  ‰»¨ö£õ¸mPÒ – ¹. 2,40,000 
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  T¼ – ¹. 3,28,000 

  G¢vμ® – ¹. 40,000 

  ÷©Øö\»ÄPÒ – ¹. 17,200 

  31.12.2018 Áøμ J¨£¢uzvØPõP ö£Ó¨£mh öuõøP  

¹. 4,80,000. Cx 80% ÷Áø» •iÄØÓuØPõÚ \õßÖ 

AÎUP¨£mhuØS \©©õÚ öuõøP¯õS®.  

CÖv øP°¸¨¦ ö£õ¸mPÎß ©v¨¦ ¹. 20,000. 

G¢vμ® 20% ÷u´©õÚzvØS Em£mhx.  

J¨£¢uU PnUQøÚz u¯õ›UP. 

15. (a) From the following data, calculate the cost per mile 
of a bus. 

  Value of vehicle Rs. 2,00,000 

  Garage rent per year Rs. 2,400 

  Insurance charges per year R.s 800 

  Road tax per year Rs. 1,000 

  Driver’s wages per month Rs. 1,200 

  Cost of diesel per litre Rs. 20 

  Tyre maintenance per mile Rs. 4 

  Estimated life – 1,50,000 miles  

  Miles per litre of diesel –10 miles 

  Estimated annual mileage – 6000 miles.   

  RÌUPsh ÂÁμ[PÎ¼¸¢x J¸ ÷£¸¢vß J¸ 

ø©¾UPõÚ AhUPÂø»ø¯U PnUQkP. 

  ÷£¸¢vß ©v¨¦ ¹. 2,00,000 

  Ási C¸¨¤h ÁõhøP (BskUS) ¹. 2,400 

  Põ¨¥k Pmhn® (BskUS) ¹. 800 

  \õø» Á› (BskUS) ¹. 1,000 

  ©õu Kmk|º T¼ ¹. 1,200 
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  J¸ ¼mhº j\À ö\»Ä ¹. 20 

  J¸ ø©¾UPõÚ h¯º ö\»ÄPÒ ¹. 4.00. 

  ÷£¸¢vß B²m Põ»® – 1,50,000 ø©ÀPÒ 

  J¸ ¼mhº j\¾US Kk® yμ® –10 ø©ÀPÒ 

  ÷£¸¢x Kk® yμ® (BskUS) – 6000 ø©ÀPÒ 

Or 

 (b) From the following data, Calculate  

  (i) Material cots variance  

  (ii) Material price variance, and  

  (iii) Material usage variance 
Product Standard 

Quantity 
(units)  

Standard 
price (Rs.) 

Actual 
quantity 
(units) 

Actual 
price (Rs.)

A 1050 2.00 1100 2.25 

B 1500 3.25 1400 3.50 

C 2100 3.50 2000 3.75 

  RÌPõq® ÂÁμ[PÎ¼¸¢x 

  (i) ‰»¨ö£õ¸Ò AhUPÂø» ©õÖ£õk 

  (ii) ‰»¨ö£õ¸Ò Âø» ©õÖ£õk 

  (iii) ‰»¨ö£õ¸Ò £¯ß£õk ©õÖ£õk BQ¯ÁØøÓU 

PnUQkP. 

ö£õ¸Ò uμ AÍÄ 

GsoUøP 

(A»SPÒ) 

uμÂø» 

(¹.) 

Esø© 

GsoUøP 

(A»SPÒ) 

Esø© 

Âø» (¹.)

A 1050 2.00 1100 2.25 

B 1500 3.25 1400 3.50 

C 2100 3.50 2000 3.75 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions from the following, 

16. Explain the steps involved in purchase control system of 
a manufacturing company. 

 J¸ u¯õ›¨¦ {Ö©zvÀ ¤ß£ØÓUTi¯ öPõÒ•uÀ 

Pmk¨£õmk •øÓ°ß £i{ø»PøÍ ÂÍUSP.  

17. From the following data, prepare a cost and profit 
statement of popular stoves manufacturing company for 
the year 2018. 

 Rs. 

Stock of materials as on 31.12.2017 35,000

Stock of materials as on 31.12.2018 4,950

Purchase of materials  52,500

Direct wages  95,000

Factory expenses  17,500

Establishment expenses  10,000

Completed stock in hand on 31.12.2017 Nil 

and as on 31.12.2018 35,000

Sales  1,89,000

 The number of stoves manufactured during the year 2018 
was – 4000 stoves. The company wants to quote for a 
contract for the supply of 1,000 electric stoves during the 
year 2019. The stove to be quoted are of uniforms quality 
and make and similar to those manufactured in the 
previous year but the cost of materials has increased by 
15% and cost of factory labour by 10%. Prepare a 
statement showing the price to be quoted to give the 
same percentage of net profit on turnover as was realised 
during the year 2018, assuming that the cost per unit of 
overhead charges will be the same as in the previous 
year. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 2018® BsiØPõÚ £õ¨¦»º 

Pn¨£k¨¦ EØ£zv {Ö©zvß AhUPÂø»²®, 

C»õ£zøu²® Põmk® Kº AÔUøPø¯z u¯õ›UPÄ®. 

 ¹.  

31.12.2017 AßÖ ‰»¨ö£õ¸mPÎß C¸¨¦ 35,000

31.12.2018 AßÖ ‰»¨ö£õ¸mPÎß C¸¨¦ 4,950

‰»¨ö£õ¸mPÎß öPõÒ•uÀ  52,500

÷|μiU T¼ 95,000

öuõÈØ\õø»a ö\»ÄPÒ  17,500

{ºÁõPa ö\»ÄPÒ  10,000

31.12.2017 AßÖ •iÄØÓ \μUQ¸¨¦  CÀø» 

31.12.2018 AßÖ •iÄØÓ \μUQ¸¨¦ 35,000

ÂØ£øÚ 1,89,000

 2018® Bsk EØ£zv ö\´u Pn¨£k¨¦PÎß GsoUøP& 

4000 BS®. 2019® Bsk C¢{ÖÁÚ® 1,000 

Pn¨£k¨¦PøÍ ÂØP Kº J¨£¢u¨ ¦ÒÎ AÎUP 

÷Ási²ÒÍx. CøÁ¯øÚzx® J÷μ ©õv› ©ØÖ® ö\ßÓ 

Bsk EØ£zv ö\´uøÁ ÷£õßÓ uμ•ÒÍøÁ. BÚõÀ 

‰»¨ ö£õ¸mPÒ Âø» 15%®, öuõÈØ\õø»U T¼ 10%® 

E¯º¢xÒÍÚ. ö\ßÓ BsiÀ Kº Ak¨¤ØS GßÚ 

÷©Øö\»ÄPÒ BÚ÷uõ A÷u AÍÄ BS® GÚUöPõsk, 

A¨ö£õ¸Ò GßÚ Âø»US J¨£¢u® ö\´¯»õ® Gß£øuU 

Põmk® £mi¯À u¯õ›UPÄ®. ö\ßÓ BsiÀ ö£Ó¨£mh 

A÷u ÂØ£øÚ  Buõ¯ Ãu® ö£Ö® ö£õ¸mk Âø»ø¯ 

{ºn°UPÄ®. 

18. The following data were obtained from the books of a 
company for the half year ended 30th September, 2018. 
Calculate the department overhead rate for each of the 
production department assuming that the overheads 
recovered as a percentage of direct wages. 
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Particulars Production Depts  Service Depts 

 A B C X Y 

Direct wages (Rs.) 7,000 6,000 5,000 1,000 1,000

Direct materials (Rs.) 3,000 2,500 2,000 1,500 1,000

Employees (Nos) 200 150 150 50 50

Light points (Nos)  10 15 15 5 5

Electricity (kwh) 8,000 6,000 6,000 2,000 3,000

Asset value (Rs.) 50,000 30,000 20,000 10,000 10,000

Area occupied (sq. metres) 800 600 600 200 200

 The expenses for 6 months were : 

 Rs. 

Stores overheads  600

Motive power  1,500

Electric light  400

Labour welfare  1,500

Depreciation  6,000

Repairs and maintenance 1,800

General overheads  10,000

Rent and taxes  1,200

 Apportion the expenses of Department ‘X’ in the ratio of  
4 : 3 : 3 and that of department ‘Y’ in proportion to direct 
wages to departments. A, B and C respectively. 

 2018 ö\¨h®£º 30À •i²® Aøμ¯õskUS J¸ {Ö© 

HkPÎ¼¸¢x GkUP¨£mh ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

÷©Øö\»ÄPøÍ ÷|μiU T¼°ß J¸ SÔ¨¤mh ÂQuzvÀ 

£[QkÁuõPU öPõsk JÆöÁõ¸ EØ£zvz xøÓUS®, xøÓ 

÷©Øö\»Ä Ãuzøu PnUQkP. 
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 EØ£zvz xøÓPÒ  ÷\øÁz xøÓPÒ

 A B C X Y 
÷|μiU T¼ (¹.) 7,000 6,000 5,000 1,000 1,000
÷|μi ‰»¨ö£õ¸Ò (¹.) 3,000 2,500 2,000 1,500 1,000
£o¯õmPÒ GsoUøP  200 150 150 50 50
ÂÍUSPÒ GsoUøP  10 15 15 5 5
ªßÚõØÓÀ (Q Áõm) 8,000 6,000 6,000 2,000 3,000
ö\õzx ©v¨¦ (¹.)  50,000 30,000 20,000 10,000 10,000
£¯ß£kzx® £μ¨£ÍÄ (\. «mhº) 800 600 600 200 200

 BÖ ©õuzvØPõÚ ö\»ÄPÒ : 

 ¹. 

£shP ÷©Øö\»ÄPÒ 600
G¢vμ Âø\  1,500
ªßÂÍUS  400
öuõÈ»õÍº |»® 1,500
÷u´©õÚ® 6,000
£Êx £õºzuÀ ©ØÖ® £μõ©›¨¦ ö\»ÄPÒ 1,800
ö£õx ÷©Øö\»ÄPÒ  10,000
ÁõhøP²®, Á›PÐ® 1,200

 ‘X’ xøÓ°ß ö\»ÄPøÍ 4:3:3 Ãuzv¾®, ‘Y’ xøÓ°ß 

ö\»ÄPøÍ ÷|μi T¼ Ãuzv¾® ‘A’, ‘B’  ©ØÖ® ‘C’ GßÝ® 

‰ßÖ EØ£zvz xøÓPÐUS® £[QhÄ®. 

19. A product is obtained after it passes three distinct 
process. From the following information, prepare process 
accounts and abnormal loss and gain accounts. 

Particulars  Process I  Process II Process III
 Rs. Rs. Rs. 

Raw materials  2,600 1,980 2,962
Direct wages  2,000 3,000 4,000
Normal loss  5% 10% 15%
Sale of scrap per unit (Rs.) 2 4 5
Production (units)  950 840 750

 General expenses Rs. 9,000 which is absorbed on the 
basis of wages. 1000 units at Rs. 3 each were introduced 
to process I. 
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 J¸ ö£õ¸Ò ‰ßÖ ö\¯À•øÓPøÍ ¤ß£ØÔ 

u¯õ›UP¨£kQÓx. ¤ßÁ¸® uPÁÀPøÍU öPõsk 

ö\´•øÓU PnUSPøÍ²®, A\õuõμn C»õ£ |mhU 

PnUSPøÍ²® u¯õ›UP. 

ÂÁμ®  ö\´•øÓ 

I  
ö\´•øÓ 

II 
ö\´•øÓ 

III 

 ¹. ¹. ¹. 

‰»¨ö£õ¸mPÒ  2,600 1,980 2,962

÷|μiU T¼ 2,000 3,000 4,000

\õuõμn |mh® 5% 10% 15%

PÈÄ¨ ö£õ¸Ò ÂØÓø© 

(A»S JßÖUS ¹. 2) 

2 4 5

EØ£zv (A»SPÒ) 950 840 750

 ö£õxa ö\»ÄPÒ ¹. 9,000. Cx T¼ ÂQuzvÀ 

«mP¨£kQÓx.  1,000 A»SPÒ ¹. 3 Ãu® •ußø© 

‰»¨ö£õ¸Ò ö\¯À•øÓ IÀ ÁÇ[P¨£mhx.  

20. State the reasons for preparation of reconciliation 
statement of profits shown in the cost records and 
financial records. 

 AhUPÂø» HkPÒ ©ØÖ® {v{ø» HkPÒ Põmk® 

C»õ£zøu \›Pmh u¯õ›UP¨£k® £mi¯¾UPõÚ 

Põμn[PøÍU TÖP. 

  

—————— 
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DISTANCE EDUCATION 

Common for B.Com./B.Com. (LE), B.Com. (CA),  B.Com. (CA) 
(Lateral entry) DEGREE EXAMINATION, MAY 2022. 

Fifth Semester 

PROJECT MANAGEMENT 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by project management? 

 vmh ÷©»õsø©¨ £ØÔ GßÚ ö\õÀQÕº? 

2. Write a note on Project Life Cycle. 

 vmh ÁõÌUøP _ÇØ] – J¸ SÔ¨ø£ GÊxP. 

3. What are the phases of project management life cycle? 

 vmh ÷©»õsø© ÁõÌUøPa _ÇØ]°ß Pmh[PÒ ¯õøÁ?  

4. What are the roles of project planning? 

 vmh vmhªh¼ß £õzvμ[PÒ ¯õøÁ? 

5. Write note on WBS. 

 WBS – SÔ¨¦ GÊxP. 

6. What is meant by organisation structure? 

 {ÖÁÚ[PÎß Aø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 
10254/12554/
12354/12854
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7. Write a note on CPM. 

 CPM – SÔ¨¦ GÊxP. 

8. What is meant by risk management? 

 Chº ÷©»õsø© GßÓõÀ GßÚ? 

9. Write a note on project evaluation. 

 vmh ©v¨¥k SÔ¨¦ GÊxP. 

10. What is meant by project execution? 

 vmh ö\¯À£kzuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the need for project management. 

  vmh ÷©»õsø©°ß AÁ]¯zøu ÂÍUSP.  

Or 

 (b) What are the roles and responsibility of project 
manager? 

  vmh ÷©»õÍ›ß £õzvμ[PÒ ©ØÖ® ö£õÖ¨¦ ¯õøÁ? 

12. (a) Explain the concept of organisation structure. 

  {ÖÁÚ[PÎß Pmhø©¨¤ß P¸zøu ÂÍUSP.  

Or 

 (b) What are the leadership styles for project 
managers? 

  vmh ÷©»õÍºPÐUPõÚ uø»ø©zxÁ £õoPÒ 

¯õøÁ? 
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13. (a) What are the differences between PERT and CPM? 

  PERTUS® CPMUS® Cøh°»õÚ ÷ÁÖ£õkPÒ 

¯õøÁ?  
Or 

 (b) Write a note on network cost system and project 
network. 

  Áø»¨¤ßÚ¼ß ö\»Ä Aø©¨¦ ©ØÖ® 

vmhÁø»¨¤ßÚ¼ß SÔ¨¦ GÊxP. 

14. (a) Discuss the various steps in risk management. 

  Chº ÷©»õsø©°ß £À÷ÁÖ £i{ø»PøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b) Explain the concept of project cost estimate. 

  vmhö\»Ä ©v¨¥miß P¸zøu ÂÍUSP.  

15. (a) Explain the purpose of project execution and 
control. 

  vmh ö\¯À£kzuÀ ©ØÖ® Pmk¨£õmiß ÷|õUPzøu 

ÂÍUSP.  

Or 

 (b) What are the advantages of using project 
management software? 

  vmh ÷©»õsø©°ß ö©ßö£õ¸øÍ¨ 

£¯ß£kzxÁuß |ßø©PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the process of project management. 

 vmh ÷©»õsø©°ß ö\¯À•øÓø¯ ÂÍUSP.  
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17. Discuss the relationship between project manager and 
line manager. 

 vmh ÷©»õÍº ©ØÖ® Á› ÷©»õÍ¸US Cøh°»õÚ EÓøÁ¨ 

£ØÔ ÂÁõvUPÄ®. 

18. Explain the concept of CPM model. 

 CPM ©õv›°ß P¸zøu ÂÍUSP.  

19. Write a note on risk identification and risk analysis. 

 Chº Aøh¯õÍ® ©ØÖ® Chº £S¨£õ´Ä SÔzx SÔ¨¦ 

GÊxP. 

20. Explain the steps for closing the project. 

 vmhzøu ‰kÁuØPõÚ ÁÈPøÍ ÂÍUSP.  

——————— 
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B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
MAY 2022. 

Sixth Semester 

MARKETING RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Data collection? 

 uμÄz vμmk GßÓõÀ GßÚ? 

2. Mention the various types of research. 

 Bμõ´a]°ß ÁøPPøÍ SÔ¨¤kP. 

3. Write the meaning of report writing. 

 ‘AÔUøP GÊxuÀ’ GßÓõÀ GßÚ Gß£øu GÊxP. 

4. What is secondary data? 

 Cμshõ® {ø» uμÄ GßÓõÀ GßÚ? 

5. State the meaning of scale evaluation. 

 AÍÄ ©v¨¥miß ö£õ¸øÍU SÔ¨¤hÄ®. 

Sub. Code 
10261/12561
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6. What is sampling design? 

 ©õv› ÁiÁø©¨¦ GßÓõÀ GßÚ? 

7. State the scope of data preparation. 

 uμÄ u¯õ›¨¤ß ÷|õUPzøuU SÔ¨¤hÄ®. 

8. What is parametric tests? 

 AÍÄ¸ ÷\õuøÚ GßÓõÀ GßÚ? 

9. What is media research? 

 FhP Bμõ´a] GßÓõÀ GßÚ? 

10. Write about brand equity research. 

 ¤μõsm DUÂmi Bμõ´a] £ØÔ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) State the nature of marketing research. 

   \¢øu°køP B´Âß ußø©ø¯ TÖP. 

Or 

 (b) Comment on “Marketing research in 21st Century”.  

   ‘‘\¢øu°køP B´Ä 21B® ¡ØÓõsiÀ’’ P¸zx TÖP. 

12.  (a) Explain the different methods of data collection. 

   £À÷ÁÖ ÁøP¯õÚ uPÁÀ ÷\P›¨¦PøÍ ÂÍUSP. 

Or 

 (b) Write the components of research paper. 

   B´ÄU Pmkøμ°ß TÖPøÍ GÊxP. 
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13.  (a) Mention the advantages of secondary data. 

   Cμshõ® {ø» uPÁ¼ß £¯ßPøÍ TÖP. 

Or 

 (b) Write short notes on ‘questionnaire building’. 

   ÂÚõU÷PõøÁ E¸ÁõUP® ]Ö SÔ¨¦ GÊxP. 

14.  (a) What are the types of comparative scales?  

   J¨¥mk AÍÃkPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Write short notes on ‘Probability sampling’. 

   {PÌuPÄ ©õv› £ØÔ ]Ö SÔ¨¦ GÊxP. 

15.  (a) Elaborate the concept “Business to Business” 
market research. 

   ‘‘ÁoPzv¼¸¢x ÁoPa \¢øu Bμõ´a]’’ P¸zøu 

Â›ÁõUP® ö\´P. 

Or 

 (b) Explain correlation analysis. 

   öuõhº¦ £S¨£õ´Ä ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the scope of marketing research. 

 \¢øu°køP B´Âß £μ¨ø£ ÂÍUSP. 

17. What are the major techniques of motivational research? 

 ö\¯¿UP©ÎzuÀ B´Âß •ußø© ~m£[PÒ ¯õøÁ? 
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18. Explain the sources of primary data. 

 •uÀ {ø»z uPÁ¼ß Buõμ[PøÍ ÂÍUSP. 

19. Briefly explain sampling process. 

 ©õv› Gkzu¼ß |øh•øÓø¯ _¸UP©õP ÂÍUSP. 

20. What are the suggestions as to report writing? 

 AÔUøP GÊxu¾UPõÚ £›¢xøμPÒ ¯õøÁ? 

 

  

———————— 
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B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
MAY 2022. 
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CORPORATE ACCOUNTING  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define a holding company. 

 ¤i¨¦ {Ö©® C»UPn® ÁøμP. 

2. What is human resource accounting?  

 ©ÛuÁÍU PnUQ¯À GßÓõÀ GßÚ? 

3. What is a Banking Company? 

 Á[Q {Ö©® GßÓõÀ GßÚ? 

4. What are the sources of funds in Insurance Company? 

 Põ¨¥mk {Ö©zvß {v ‰»[PÒ ¯õøÁ? 

5. Who is Secured Creditors?  

 ¤øn¯ PhÜ¢÷uõº Gß£Áº ¯õº? 

Sub. Code 
10262/12562
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6. Define Underwriting.  

 J¨¦Öv Áøμ¯Ö. 

7. Give the journal entry for forfeiture of shares. 

 £[SPÒ JÖ¨¤Ç¨¦ ö\´uuØS uUP SÔ¨÷£mk¨ £vÄ u¸P. 

8. Define Goodwill. 

 |Øö£¯º Áøμ¯Ö. 

9. What is statutory reserve?  

 \mh¨§ºÁ©õÚ Põ¨¦ GßÓõÀ GßÚ? 

10. What is meant by consolidation of shares?  

 £[S J¸[Qøn¨¦ GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the various methods of valuation of shares. 

  £[SPøÍ ©v¨¤k® £À÷ÁÖ •øÓPøÍ ÂÁ›. 

Or 

 (b) Balance Sheets of a holding company and its 
subsidiary company as on 31.12.2008 are given 
below : 

Liabilities H Ltd. S Ltd.  Assets H Ltd. S Ltd.

 Rs. Rs.   Rs. Rs. 

Share Capital 1,20,000 30,000  Building 72,000 25,000

General Reserve 25,000 6,000  Plant 30,000 10,000

Profit and Loss a/c 12,000 9,000  Shares in 



D–5284 
  3

Liabilities H Ltd. S Ltd.  Assets H Ltd. S Ltd.

Creditors 15,000 5,000  S Ltd. (2000) 25,000 – 

   Stock  18,000 3,000

   Debtors 22,000 7,000

   Cash 5,000 5,000

 1,72,000 50,000   1,72,000 50,000

  At the time of purchase of shares of S Ltd. it has 
profits and Reserves amounting to Rs.5,000. None of 
the amount was distributed. Prepare consolidated 
Balance Sheet. 

  ¤i¨¦ {Ö©®, xøn {Ö©® BQ¯ÁØÔß 31.12.2008 

|õÎmh C¸¨¦{ø»U SÔ¨¦PÒ R÷Ç 

öPõkUP¨£mkÒÍÚ. 

ö£õÖ¨¦PÒ H {Ö©®  S {Ö©®  ö\õzxUPÒ H {Ö©® S {Ö©®

 ¹.  ¹.   ¹. ¹. 

£[S •uÀ 1,20,000  30,000  Pmih® 72,000 25,000

ö£õxUPõ¨¦ 25,000  6,000  ö£õÔPÒ 30,000 10,000

»õ£ |mh P/S 12,000  9,000  xøn {Ö©® 

PhÜ¢÷uõº 15,000  5,000  £[SPÒ (2000)(S) 25,000 – 

     \μUQ¸¨¦ 18,000 3,000

     PhÚõÎPÒ 22,000 7,000

     öμõUP® 5,000 5,000

 1,72,000  50,000   1,72,000 50,000

  xøn {Ö©¨ £[SPÒ Áõ[Q¯ |õÎÀ A¢{Ö©zvÀ 

C»õ£® ©ØÖ® Põ¨¦ öuõøP¯õP ¹. 5,000 C¸¢ux. 

AøÁ £Qº¢uÎUP¨£hÂÀø». CUuPÁÀPøÍ 

öPõsk öuõS¨¦ C¸¨¦{ø»U SÔ¨¦ u¯õ›UPÄ®. 



D–5284 
  4

12. (a) A company was incorporated on 1.6.94 in order to 
purchase a running business from 1.1.94. The 
following particulars are available from its records : 

                                                       Rs. 

  (i) Total sales for 1.1.94 80,000 

  (ii) Sales from 1.1.94 to 31.5.94 20,000 

  (iii) Gross profit for the whole year 30,000 

  (iv) Total expenses of 1994 (including  
   director’s fee Rs. 1,000) 25,000 

  (v) Company’s share capital 75,000 

   Find out profit prior to incorporation and after to 
incorporation by preparing Profit and Loss Account. 

  1.1.94 •uÀ |h¢x öPõsk C¸US® öuõÈø» Áõ[Q 

1.6.94 AßÖ {Ö©® Tmk¸ÁõUP® ö\´¯¨£mhx. 

AuÝøh¯ HkPÎÀ C¸US® ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

                                                                                          ¹. 

  (i) 1.1.94 À ö©õzu ÂØ£øÚ 80,000 

  (ii) 1.1.94 •uÀ 31.5.94 Áøμ ÂØ£øÚ 20,000 

  (iii) •Ê BskUPõÚ ö©õzu »õ£® 30,000 

  (iv) 1994–® Bsiß ö©õzu ö\»Ä   

(C¯USÚº Pmhn® ¹. 1,000   

÷\º¢xÒÍx) 25,000 

  (v) {Ö©[PÐøh¯ £[S •uÀ 75,000 

  C»õ£ |mhzøu u¯õ›¨£vÀ QøhUS® Tmk¸ÁõUPzvØS 

•ß ©ØÖ® ¤ß EÒÍ C»õ£zøu PnUQk. 

Or 
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 (b) Rasi Co. Ltd. purchased the assets of Rs.1,85,000 
and took over the liabilities of Rs.10,000 of  
Raj & Co. For the purchase price of Rs. 1,80,000 
Rasi Co. Ltd. paid the purchase price by issuing 
debenture of Rs. 100 each at a discount of 10%. Give 
Journal Entries. 

  μõ] P®ö£Û ¼ªöhm ö\õzxUPøÍ ¹.1,85,000–US 

Áõ[Q¯x ©ØÖ® ¹.10,000 ö£õÖ¨¦PøÍ²®  

μõä & ÷PõÂh® C¸¢x GkzxUöPõshx. öPõÒ•uÀ 

Âø» ¹.1,80,000 BS®. μõ] P®ö£Û ¼ªöhm 

öPõÒ•uÀ Âø»ø¯ 10% uÒÐ£i°À  

¹. 100 Ãu® PhÜmk¨ £zvμ©õP öÁÎ°mhx. 

  SÔ¨÷£mk¨ ¦vÄPÒ u¸P. 

13. (a) A liquidator of a company in voluntary liquidation 
is entitled to a remuneration of 3% on the amounts 
realized (excluding the cash on hand) and at 2% on 
the amounts distributed to the unsecured creditors. 
Unsecured creditors (including preferential 
creditors of Rs. 5,000) amounted to Rs. 40,000. 
Debenture holders were paid Rs. 51,875 together 
with interest. Preferential creditors were paid in 
full, Rs.510 were spent as costs of liquidation. Cash 
on hand Rs. 1,000 and assets realized Rs. 79,000. 
Find out liquidator’s total remuneration.  

  J¸ {Ö©zvß Pø»¨£õÍº, Â¸¨£ Pø»¨¤ØS 

Fv¯©õP ÂØ£øÚ öuõøP «x (øP°¸¨¦ öμõUP® 

uÂμ) 3% ©ØÖ® ¤øn¯ªÀ»õ PhÜ¢÷uõºUS 

£Qμ¨£k® öuõøP°À 2% BS®. ¤øn¯ªÀ»õ 

PhÜ¢÷uõº (•ßÝ›ø© PhÜ¢÷uõº ¹.5,000 

÷\º¢xÒÍx) ¹.40,000 PhÜmk¨ £zvμuõμºPÐUS 

Ámi²hß ö\¾zu ÷Ási¯ öuõøP ¹.51,875 BS®. 

•ßÝ›ø© PhÜ¢÷uõ¸US •ÊÁx® ö\¾zu¨£mhx. 

Pø»¨¦UPõP ö\´u ö\»Ä ¹.510. øP°¸¨¦ öμõUP® 

¹.1,000 ©ØÖ® ö\õzx ÂØÓ öuõøP ¹.79,000 BS®. 

Pø»¨£õÍ¸øh¯ ö©õzu Fv¯zvøÚ PnUQk. 

Or 
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 (b) Ganguly Ltd. was formed with an authorized capital 
of Rs.12,00,000 divided into 1,20,000 equity shares 
of Rs.10 each, to acquire the business of A and B 
whose balance sheet on the date of acquisition was 
as follows : 

Liabilities Rs. Assets  Rs. 

Capital 6,00,000 Freehold premises  7,00,000 

General reserve 4,00,000 Stock  2,00,000 

Creditors 2,00,000 Sundry debtors 1,60,000  

  Less : Provision    

  for bad debts 10,000 1,50,000 

  Cash at bank  1,50,000 

   

 12,00,000  12,00,000

  The purchase consideration was agreed upon at 
Rs.14,00,000 to be paid in Rs.12,00,000 fully paid 
equity shares at Rs.11 and balance in cash. Give 
Journal entries. 

  P[S¼ ¼ªöhm A[RP›UP¨£mh •uÀ ¹.12,00,000 

Ehß {Ö©zøu Bμ®¤UQÓx. CzöuõøP ¹.10 Ãu® 

1,20,000 £[SPÍõP ¤›UP¨£mhx. C¢{Ö©® A ©ØÖ® 
B {Ö©zøu Áõ[Q¯x. Áõ[Q¯ |õÐUPõÚ 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

•uÀ 6,00,000 ©øÚxøn ö£õ¸mPÒ  7,00,000 

ö£õxUPõ¨¦ 4,00,000 \μUQ¸¨¦  2,00,000 

PhÜ¢÷uõº 2,00,000 £Ø£» PhÚõÎPÒ 1,60,000  

  (–) ÁμõUPhß JxUS 10,000 1,50,000 

  Á[Q°¸¨¦ öμõUP® 1,50,000 

 12,00,000  12,00,000
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  J¨¦öPõsh öPõÒ•uÀ ©Ö£¯ß öuõøP 

¹.14,00,000. CzöuõøP £[S JßÖUS ¹.11 Ãu® 

•ÊÁx® ö\¾zv¯ ö£õx{ø» £[SPÍõP 

¹.12,00,000 US® «uz öuõøP öμõUP©õPÄ® 

ö\¾zu¨£h ÷Ásk®. 

  SÔ¨÷£mk £vÄPÒ u¸P. 

14. (a) Explain briefly about Amalgamation. 

  JßÔøn¨¦ £ØÔ Â›ÁõP ÂÍUSP. 

Or 

 (b) From the following particulars, determine the 
maximum remuneration available to a full time 
director of a manufacturing company. 

  The Profit and Loss account of the company showed 
a net profit of Rs.40,00,000 after taking into account 
the following  items : 

                                                         Rs. 

  (i) Depreciation (including special   
   depreciation of Rs. 40,000) 1,00,000 

  (ii) Provision for income tax 2,00,000 

  (iii) Donation to political parties 50,000 

  (iv) Ex-gratia payment to worker 10,000 

  (v) Capital profit on sale of assets 15,000 

  ¤ßÁ¸® ÂÁμ[PøÍ öPõsk, J¸ u¯õ›¨¦ 

{Ö©zvÀ C¸US® •Ê÷|μ C¯USÚ¸UPõÚ 

Fv¯zøu PnUQk. 

  ¤ßÁ¸ÁÚÁØøÓ GkzxU öPõshuØS ¤ÓS J¸ 

{Ö© C»õ£ |mh PnUS Põmk® {Pμ »õ£®  

¹. 40,00,000 BS®. 

                                                                                 ¹. 

  (i) ÷u´©õÚ® (]Ó¨¦ ÷u´©õÚ®   

   ¹. 40,000 Em£h) 1,00,000 

  (ii) Á¸©õÚ Á› JxUS 2,00,000 
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  (iii) Aμ]¯À ¤μ•P¸US AÎzu uÒÐ£i 50,000 

  (iv) öuõÈ»õÎPÐUPõÚ AvP¨£i¯õÚ  

   FUPzöuõøP 10,000 

  (v) ö\õzx ÂØ£øÚ «uõÚ ‰»uÚ C»õ£® 15,000  

15. (a) What is issue of shares at a premium? What are the 
conditions for the issue of shares at a discount? 

  ÁmhzvÀ £[SPøÍ öÁÎ°kuÀ GßÓõÀ GßÚ? 

ÁmhzvÀ £[SPøÍ öÁÎ°ku¼À EÒÍ 

{£¢uøÚPÒ ¯õøÁ? 

Or 

 (b) X Ltd. followed the following reconstruction scheme, 
which was duly approved. 

  (i) The 9% preference shares be reduced 8% 
preference shares at Rs.60 each. The original 
value of preference shares was Rs.100. There 
are 1000 preference shares. 

  (ii) Equity shares of Rs. 100 each to be reduce by 
Rs.80 each. 

   There are 2000 equity shares. 

   Find the amount transferred to capital 
reduction. 

X {Ö©® ¤ßÁ¸® v¸zv Aø©US® vmhzøu 

J¨¦UöPõshx.  

   (i) 9% •ßÝ›ø© £[SPÒ SøÓUP¨£mk 8% 

JÆöÁõßÖ® •ßÝ›ø©¨ £[SPÒ ¹. 60 US 

öPõsk Áμ¨£mhx. CÁØÔß öÁÎ°mk Âø» 

¹. 100 BS®. ö©õzu 1000 •ßÝ›ø©¨ 

£[SPÒ EÒÍÚ. 

   (ii) ¹.100 ÷|ºø©¨ £[SPÒ JÆöÁõßÔ¾® 80 

SøÓUP¨£mhx.  

    ö©õzu 2000 ÷|ºø©¨ £[SPÒ EÒÍÚ. 

   ‰»uÚ® SøÓ¨¦US ©õØÓ® ö\´¯ ÷Ási¯ 

öuõøPø¯ Psk¤i.  
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

Each question carries 10 marks. 

16. Explain the various methods of winding up a company. 

 {ÖÁÚ Pø»¨¤ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. Given below is the balance sheet of a company as on  
31st March 2012. 

Liabilities Rs. Assets Rs. 

Preference shares   Goodwill 1,20,000

Rs. 100 each 2,00,000 Fixed Assets 2,50,000

Equity shares   Current assets 1,80,000

Rs. 100 each 3,00,000 Preliminary expenses 15,000

Securities premium 50,000 P and L A/C 1,35,000

Other liabilities 1,50,000  

 7,00,000  7,00,000

 During 2012–13, the following resolutions were 
implemented.  

 (a) To reduce the face value of the preference and 
equity shares to Rs. 50 each. 

 (b) To write off other assets (except real assets) by 
utilizing securities premium to the required extent. 

 Prepare the Balance Sheet after the reconstruction and 
also journal entries there on. 
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 J¸ {Ö©zvß 31 ©õºa 2012 ¢ ÷uv C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

•ßÝ›ø© £[SPÒ  |Øö£¯º 1,20,000

¹. 100 Ãu® 2,00,000 {ø»a ö\õzx 2,50,000

\›\© £[SPÒ  |h¨¦a ö\õzx 1,80,000

¹. 100 Ãu® 3,00,000 öuõhUP ö\»ÄPÒ 15,000

¤øn¯® «uõÚ •øÚ©® 50,000 C»õ£ |mh P/S 1,35,000

¤Ó ö£õÖ¨¦PÒ 1,50,000  

 7,00,000  7,00,000

 2012–13 ® BsiÀ ¤ßÁ¸® wº©õÚ[PÒ 

{øÓ÷ÁØÓ¨£mhÚ. 

 (A) •ßÝ›ø© £[SPÒ ©ØÖ® \›\© £[SPÎß 

•P©v¨¤øÚ ¹.50 BP SøÓ¨£x. 

 (B) Cuμ ö\õzxUPøÍ (Esø©¯õÚ ö\õzxUPÒ uÂμ) 

÷£õUöPÊxÁx ÷uøÁ¨£mhõÀ ¤øn¯® «uõÚ 

•øÚ©z öuõøP°øÚ £¯ß£kzvU öPõÒÍ»õ®. 

 ©ÖPmk©õÚzvØS ¤¢øu¯ C¸¨¦{ø»U SÔ¨¤øÚ 

÷©¾® SÔ¨÷£mk £vÄPøÍ²® u¸P. 

18. The following  is the balance sheet of Balan Ltd. on 
31.12.98. 
Liabilities Rs. Assets Rs. 

Equity shares   Fixed Assets 10,00,000

Rs. 10 each 8,00,000 Current assets 4,00,000

Profit and Loss A/C 40,000 Goodwill 80,000

Reserves 1,80,000  

5% Debentures 2,00,000  

Current Liabilities 2,60,000  

 14,80,000  14,80,000
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 On 31.12.1998, the fixed assets were valued at  
Rs. 7,00,000 and the goodwill at Rs.1,00,000. The net 
profit for the years were : 1996 – Rs.1,03,200; 1997 –  
Rs. 1,04,000; 1998 – Rs. 1,03,300; of which 20% was 
placed to reserve and a fair return on investment may by 
taken at 10%. Compute the value of shares of the 
company by  

 (a) Net Asset method 

 (b) Yield method. 

 31.12.98 AßÖ £õ»ß {Ö©zvß C¸¨¦{ø»U SÔ¨¦. 

ö£õÖ¨¦PÒ  ¹. ö\õzxPÒ ¹. 

¹. 10 ©v¨¦ÒÍ   {ø»¯õÚ ö\õzx 10,00,000

\© £[SPÒ 8,00,000 |h¨¦ ö\õzx 4,00,000

»õ£ |mhU PnUS 40,000 |Øö£¯º 80,000

Põ¨¦ 1,80,000  

5% PhÜmk¨ £zvμ[PÒ 2,00,000  

|h¨¦ ö£õÖ¨¦PÒ 2,60,000  

 14,80,000  14,80,000

 31.12.1998 AßÖ {ø»¯õÚ ö\õzxUPÎß ©v¨¦ 

¹.7,00,000 GÚÄ® |Øö£¯›ß ©v¨¦ ¹.1,00,000 GÚÄ® ©Ö 

£v¨¥k ö\´¯¨£mhx. Ph¢u ‰ßÓõskPÎß {Pμ »õ£ 

•øÓ÷¯ 1996 – ¹.1,03,200; 1997 –  

¹. 1,04,000; 1998 – ¹. 1,03,300 BS®. CvÀ 20% Põ¨¦UPõP 

JxURk ö\´¯ ÷Ási¯x AÁ]¯©õS®. ÷©¾® C¢{Ö©® 

Dk£mkÒÍ öuõÈ¼À •u½miß «x {¯õ¯©õÚ »õ£® 10% 

GÚ P¸u»õ®. C¢{Ö©¨ £[Qß ©v¨ø£  

 (A) {Pμ ö\õzxUPÒ •øÓ°¾® ©ØÖ® 

 (B) AÖÁøh •øÓ°¾® PnUQkP. 
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19. The following are the Balance Sheet of H Ltd. and S Ltd. 
as on 31.3.1995. 
Liabilities H Ltd. 

Rs. 
S Ltd. 

Rs. 
Assets H Ltd.

Rs. 
S Ltd.

Rs. 

Share of Rs. 10 each 6,00,000 2,00,000   Machinery 3,00,000 1,00,000

General Reserve 1,50,000 70,000   Furnitures 70,000 45,000

Profit and Loss a/c 70,000 50,000   Stock 1,75,000 1,89,000

Creditors 90,000 60,000   Debtors 55,000 30,000

    Cash 50,000 10,000

    Preliminary    
  expenses 

 
– 6,000

    70% shares in 

    S Ltd. cost 2,60,000 – 

 9,10,000 3,80,000  9,10,000 3,80,000

 H Ltd. acquired the shares of S Ltd., on 30.6.1994. On 
1.4.1994, S Ltd.’s general reserve and Profit and Loss A/C 
stood at Rs. 60,000 and Rs. 20,000 respectively. No part 
of the preliminary expenses was written off in the year 
ended 31.3.1995. Prepare consolidated balance sheet of   
H Ltd. and its subsidiary S Ltd. as 31.3.95. 

 31.3.1995 AßøÓ¯ ÷uv°À H {Ö©® ©ØÖ® xøn {Ö©® 

S {Ö©® C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ H {Ö©®

¹. 
S {Ö©® 

¹. 
ö\õzxUPÒ H {Ö©®

¹. 
S {Ö©®

¹. 

¹.10 ©v¨¦ÒÍ £[SPÒ 6,00,000 2,00,000   C¯¢vμ® 3,00,000 1,00,000

ö£õxPõ¨¦ 1,50,000 70,000   ©øÚ¯o¯[PÒ 70,000 45,000

»õ£ |mh P/S 70,000 50,000   \μUQ¸¨¦ 1,75,000 1,89,000

PhÜ¢÷uõº 90,000 60,000   PhÚõÎPÒ 55,000 30,000

   öμõUP® 50,000 10,000

   öuõhUP ö\»ÄPÒ – 6,000

   S {Ö©zvÀ  

   AhUP 

   Âø»°À 70%  

  £[SPÒ 

2,60,000 – 

 9,10,000 3,80,000 9,10,000 3,80,000
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 30.6.94 AßÖ H {Ö©®, S {Ö©zvß £[SPøÍ Áõ[Q¯x. 

1.4.94 AßÖ S {Ö©zvß ö£õxUPõ¨¦ ©ØÖ® »õ£ |mhUP 

PnUS •øÓ÷  ̄ ¹.60,000 ©ØÖ® ¹.20,000 ©õP C¸¢ux. 

31.3.95 AßÖ •iÁøh¢u PnUPõsiÀ öuõhUP ö\»ÄPÒ 

Hx® ÷£õUöPÊu¨£hÂÀø». 

 31.3.95 AßøÓ¯ ÷uv°À H {Ö©® ©ØÖ® Auß xøn 

{Ö©® S {Ö©® BQ¯ÁØÔß J¸[Qøn¢u C¸¨¦{ø»U 

SÔ¨ø£ u¯õº ö\´P. 

20. From the following particular, prepare a Profit and Loss 
A/C of Ashoka Bank Ltd. for the year ended 31.12.2008 : 

 Rs. 

Interest on Loan 2,60,000 

Interest on Fixed Deposits 2,80,000 

Rebate on bills discounted 50,000 

Commission charged to customers 9,000 

Establishment expenses 56,000 

Discounted on bill discounted 2,00,000 

Interest on current A/C 45,000 

Printing and Advertisement 5,000 

Interest on cash credit 2,25,000 

Rent and Taxes 20,000 

Interest on overdrafts 56,000 

Director’s fees 4,500 

Interest on Saving Bank A/C 70,000 

Postage 1,500 

Sundry charges 1,800 



D–5284 
  14

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x A÷\õPõ Á[Q ¼ªöhmiß »õ£ 

|mhU PnUøP 31.12.2008 AßÖ u¯õº ö\´P. 

 ¹. 

Phß «uõÚ Ámi 2,60,000 

{μ¢uμ øÁ¨¦ «x Ámi 2,80,000 

©õØÖa^mkPøÍ PÈÄ ö\´uvÀ uÒÐ£i 50,000 

ÁõiUøP¯õÍºPÒ «uõÚ PÈÄ 9,000 

{ºÁõPa ö\»Ä 56,000 

PÈÄ ö\´u ©õØÖa^mkPÎß «x PÈÄ 2,00,000 

|h¨¦ PnUS «x Ámi  45,000 

Aa_ ©ØÖ® ÂÍ®£μ® 5,000 

öμõUP Phß «x Ámi 2,25,000 

ÁõhøP Á› 20,000 

÷©ÀÁøμ¨ £ØÖ «uõÚ Ámi 56,000 

C¯US|º Pmhn® 4,500 

÷\ª¨¦ PnUS Ámi 70,000 

u£õÀ ö\»Ä 1,500 

]À»øμ ö\»ÄPÒ 1,800 

 ______________ 
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DISTANCE EDUCATION 

COMMON FOR B.Com., B.Com (LE)/B.Com. (CA)/ 
B.Com. (CA) (Lateral Entry) DEGREE EXAMINATION,  

MAY 2022. 

Sixth Semester 

ENTREPRENEURSHIP DEVELOPMENT  

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by entrepreneur? 

 öuõÈÀ •øÚ÷Áõº GßÓõÀ GßÚ? 

2. Write the need for rural entrepreneurship. 

 Qμõ©¨¦Ó öuõÈÀ•øÚÂß ÷uøÁø¯ GÊxP.  

3. What is fixed capital? 

 {ø»zu •u½k GßÓõÀ GßÚ? 

4. Expand EDP.  

 EDP & Â›ÁõUS.  

5. Mention the characteristics of a company. 

 {ÖÁÚzvß £s¦PøÍU SÔ¨¤kP.  

Sub. Code 
10 

Sub. Code 
10263/12563/
12363/12863
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6. What is project report? 

 vmh AÔUøP GßÓõÀ GßÚ? 

7. Mention the functions of DIC.  

 DIC ß ö\¯À£õkPøÍ SÔ¨¤kP.  

8. What is technology feasibility? 

 öuõÈÀ ~qUP Áõ´¨¦ GÎø© GßÓõÀ GßÚ? 

9. State the reasons for sickness.  

 •hUPzvß Põμn[PøÍ TÖP.  

10. What is creativity? 

 £øh¨£õØÓÀ GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL the questions by choosing either (a) or (b). 

11. (a) Describe the characteristics of entrepreneur.  

  öuõÈÀ •øÚ÷Áõ›ß C¯À¦PøÍ ÂÁ›UP.  

Or 

 (b) What are the functions of SIDO? 

  SIDO Âß ö\¯À£õkPÒ ¯õøÁ? 

12. (a) What are the factors affecting location of a plants? 

  öuõÈØ\õø»°ß Ch Aø©¨ø£ £õvUS® •UQ¯ 

PõμoPÒ GßÚ? 

Or 

 (b) Explain the types of risks.  

  A£õ¯ ÁøPPøÍ ÂÍUSP. 
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13. (a) Write the classification of sources of finance.  

  {v Buõμ[PÎß ÁøP¨£õmøh GÊxP.  

Or 

 (b) Mention the importance of SSI’s.  

  SSI&ß •UQ¯zxÁzøu SÔ¨¤kP.  

14. (a) Write the role of entrepreneur in economic 
development.  

  ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ •øÚ÷Áõ›ß 

£[QøÚ GÊxP.  

Or 

 (b) Explain the phases of feasibility study.  

  \õzv¯UTÖ B´Âß {ø»¨£õmøh ÂÍUSP. 

15. (a) Explain the types of franchising.  

  E›ø©°¯¼ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the consequences of industrial sickness? 

  öuõÈÀxøÓ •hUPzvß ÂøÍÄPÒ GßÚ?  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the procedure for setting up a small scale industrial 
unit.  

 ]Ö öuõÈÀ {ÖÁÚzøu öuõh[SÁuØPõÚ ÁÈ•øÓPøÍU 

TÖP.  

17. Explain the factors affecting entrepreneurial growth.  

 öuõÈÀ •øÚ÷Áõ›ß ÁÍºa]°øÚ £õvUS® PõμoPÒ 

¯õøÁ? 
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18. Discuss the different types of innovation.  

 ¦zuõUPzvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP.  

19. Describe the main problem faced by small scale 
industries in India.  

 C¢v¯õÂ¾ÒÍ ]Ö öuõÈ»P[PÒ GvºöPõÒÐ® •UQ¯ 

¤μa]øÚPøÍ Áøμ¯Ö. 

20. Explain global and Indian innovations.  

 E»PÍõÂ¯ ©ØÖ® C¢v¯ Psk¤i¨¦PøÍ ÂÍUSP. 

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
MAY 2022. 

Sixth Semester 

MANAGEMENT INFORMATION SYSTEM 

(CBCS 2018 – 2019 Academic year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is MIS? 

 MIS GßÓõÀ GßÚ? 

2. Mention the kinds of information systems. 

 uPÁÀ Aø©¨¦PÎß ÁøPPøÍU SÔ¨¤kP. 

3. What is system design? 

 Aø©¨¦ ÁiÁø©¨¦ GßÓõÀ GßÚ? 

4. Elaborate BPR. 

 BPR Â›ÁõUSP. 

5. What is ERP? 

 ERP GßÓõÀ GßÚ? 

Sub. Code 
10264/ 
12564 
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6. Explain E-collaboration. 

 ªß JzxøÇ¨¦ ÂÍUSP. 

7. What is DSS? 

 DSS GßÓõÀ GßÚ? 

8. Explain database management system. 

 uμÄzuÍ ÷©»õsø© Aø©¨ø£ ÂÍUSP. 

9. What are the security hayards? 

 £õxPõ¨¦ A£õ¯[PÒ GßÓõÀ GßÚ? 

10. Write the meaning of knowledge management. 

 AÔÄ ÷©»õsø© AÔÄ {ºÁõPzvß Aºzuzøu GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions by choosing either (a) or (b). 

11. (a) Explain the types of computers used by 
organizations in setting up MIS. 

  MIS Aø©¨£vÀ {ÖÁÚzuõÀ £¯ß£kzu¨£k® 

PoÛ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Describe the structure of management information 
system. 

  MIS Cß Pmhø©¨ø£ ÂÁ›UPÄ®. 

12. (a) Write short notes on system analysis. 

  Aø©¨¦ £S¨£õ´Ä £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 



D–5286 
    3

 (b) Comment on “MIS at management levels”. 

  “÷©»õsø© ©mhzvÀ MIS” P¸zx TÖP. 

13. (a) What do you mean by E-commerce. 

  ªßÁoP® GßÓõÀ GßÚ? 

Or 

 (b) Write the hardware support for MIS. 

  MIS UPõÚ Áßö£õ¸Ò BuμøÁ GÊxP. 

14. (a) Explain the trends in MIS. 

  MIS CÀ EÒÍ ÷£õUSPøÍ ÂÍUSP. 

Or 

 (b) What are the types of database users? 

  uμÄzuÍ £¯ÚºPÎß ÁøPPÒ GßöÚßÚ? 

15. (a) Explain the technical solutions for privacy 
protection. 

  uÛ²›ø© £õxPõ¨¤ØPõÚ öuõÈÀ~m£ wºÄPøÍ 

ÂÍUSP. 

Or 

 (b) Describe the basics of computer systems. 

  PoÛ Aø©¨¤ß Ai¨£øhPøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain MIS categories. 

 MIS ÁøPPøÍ ÂÍUSP. 
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17. What are the differences between planning and control 
information? 

 vmhªhÀ ©ØÖ® Pmk¨£õmk uPÁÀPÐUS Cøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ GßÚ? 

18. Describe economic and behaviour theories. 

 ö£õ¸Íõuõμ ©ØÖ® |hzøu ÷Põm£õmøh ÂÍUSP. 

19. Explain “Artificial intelligence”. 

 “ö\¯ØøP AÔÄ \mh®” ÂÍUSP. 

20. What is object oriented methodology? 

 ö£õ¸Ò \õº¢u •øÓ GßÓõÀ GßÚ? 

––––––––––––––– 


